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N = 0] &F AF S & AN A
A2 AHTER SN BHAED
M MNE
ool NSPH gas =X CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
FHEE=Z 67,880,003 70,020,904 A 2,140,901
= 12,688,465
Xl 7,706,498
Jl 4,456,475
= 6,024,423
Al 37,004,142
A M &=t 14,161,796 10,171,639 3,990, 157
= 745,200
N 527,566
J| 3,522,100
o=} 750,442
Al 8,616,488
MAHRE 6,639,063 2,746,370 3,892,693
N 377,566
J| 2,700,000
o= 403,034
Al 3,158,463
XNEHH &8s =4 167,829 118,324 49,505
=} 8,298
Al 159,531
Z2EXNE BHaeed =& 105,630 65,311 40,319
201 et 9,470 8,766 704
01 AP 2t 2] H| 9,470 8,766 704
O2Jts 22 HE 100& = 25,0000H 2,500
O2IlseAlAE S22l
1,500,000& * 14 1,500
OSItEssAAE S AEY| 33,000& * 12& 396
OAHIAGEHAORARMEG EHII=H
0,000& * 23| ~ 129¥ 1,680
OS2 A AT H &
100,000& * 1000 & 1,000
OFBIIHAA FIAHEA 42
83,000& * 1000 830
OS2 A 22 EX T M2
100,000& = 10002 1,000
OZEI2ATd A AAE X122
300,0008 ~ 14 300
OZEIII2ATd A AAE SAEY|
22,000 = 12&€ 264
301 et A= 6,160 6, 160 0
09 SHAIAHI B A2 700 700 0
OS2It ZHH QI EHILK S A
7,000& * 50¥ x 23] 700
11 JIEtE A= 5,460 5,460 0
O8It ZLIHYE s 5,460,000& = 14 5,460
307 2I2t0| ™ 40,000 35,000 5,000
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el NE3M &85 =8 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
05 RIZtR & = 40,000 35,000 5,000
OAHIXHAEHE AE2I
40,000,000& * 14! 40,000
402 2I2H X201 M 50,000 0 50,000
01 B2t AL E X 50,000 0 50,000
OZEa33ds 4LFEFE XXNE
50,000,000 * 14 50,000
dHaeld =3 2E 3 22,200 18,600 3,600
202 04l 13,200 9,600 3,600
01 = LH 4 Hi 13,200 9,600 3,600
OSotatel & JISXNZAS 2 AIH=A04H]
20,000& = 6H = 1102 13,200
203 ¥ S =&l 9,000 9,000 0
03 AIZ=AH 2 =AH| 9,000 9,000 0
OZHIAEAHE Z&(2F) 7,000,0008 * 14 7,000
OZHME2IANHGR =& 2,000,000& = 14 2,000
5t g4 QlMEIE KR 27,659 24,413 3,246
< 8,298
Al 19,361
201 Let24E] 15,000 0 15,000
< 4,500
Al 10,500
01 At 22l 15,000 0 15,000
OHBIIAY A goAnsr
15,000,000 * 14 15,000
= 4,500
Al 10,500
301 et a3z 12,659 24,413 AN 11,754
< 3,798
Al 8,861
(AP S =S = 12,659 24,413 AN 11,754
O Hetohzaga eldEE XA
12,659,000 = 14 12,659
< 3,798
Al 8,861
RIS L3 12,340 0 12,340
201 Let2d] 9,540 0 9,540
01 At 2t 2l 9,540 0 9,540
ORMMHARE EHa+
70,000& = 7¥ = 63l 2,940
ORNIMEWNE ZAZ 2,000,000& = 23l 4,000
ORMIMHENE 29 =AM
300,000& = 23| 600
OFMMEEHILA HAHZE 20,0008 * 1005 2,000
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
202 Od4dl 2,800 0 2,800
01 = LH 4 Hl 2,800 0 2,800
ORHMIHE 2 HRF=E bl
20,000& = 2% « 703l 2,800
HdSAME 3" 25t 6,471,234 2,628,046 3,843,188
Xl 377,566
J| 2,700,000
< 394,736
Al 2,998,932
SATHY SHSE AT MSANE 245 N 38,960 39,440 A 480
201 Let24d] 11,960 3,540 8,420
01 At 22/l 8,960 3,540 5,420
OFEANE 222 M 3,000,000& = 14l 3,000
OFSANY 228 849 L EXNB A=
1,000,000& * 14l 1,000
ORSAMMLNES HItog
70,000& = 43 = 7H 1,960
O&Ql I3 st AMI MZ
3,000,000& * 14l 3,000
03 &AL2 Z I 3,000 0 3,000
OXSAZE SYE 2F 3,000,000& = 14! 3,000
301 et a3z 6,000 14,900 A8,900
09 EHALAHIZB &S 6,000 14,900 A8,900
OESAE &&al &R Kbl
100,000& = 5F = 23 1,000
OHENT &0 SAAF At
5,000,000& * 14! 5,000
307 21201 A 21,000 21,000 0
02 YAFAAHEX 15,000 15,000 0
OdSAE ZSEUAXE
15,000,000& = 14l 15,000
08 OIXt2 &= 6,000 6,000 0
OFSANZEHdsti=s 0IXAEA
500,000& * 12043 6,000
SANMY S243tE st DSAIE AL U 629,277 786,000 A 156,723
Xl 377,566
< 37,756
Al 213,955
401 Al HIZ 201 8] 629,277 786,000 A 156,723
Xl 377,566
< 37,756
Al 213,955
01 A& HI 627,277 783,000 A 155,723
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= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OSLANZE ANLESEUHSHAY
464,000,000& = 14! 464,000
Xl 304,800
< 30,480
Al 128,720
OSLAE AL HSAI (AIBI=D1)
44,000,000& = 14! 44,000
OMSAZ AL UHSHAIY
41,000,000& * 14! 41,000
Xl 24,600
= 2,460
Al 13,940
OHEANZE ANLSEUHSAY
70,450,000& = 14! 70,450
Xl 46,966
< 4,696
Al 18,788
OSYAIE AESCHSHAR (AIBI=D1)
7,827,000& = 14 7,827
03 A& SR THHI 2,000 3,000 21,000
OSLAE AIZUatALE 2,000,000 * 14 2,000
X 1,200
< 120
Al 680
HSEANE FNMEEE K& 6,000 7,406 A 1,406
< 3,000
Al 3,000
307 21201 A 6,000 7,406 A 1,406
< 3,000
Al 3,000
02 ItFAAHE X 6,000 7,406 A 1,406
OdSAE stHEEz XA
6,000,000& * 14! 6,000
< 3,000
Al 3,000
2 5% 243 29 9,000 9,000 0
201 et 8,000 8,000 0
03 A2 Z Hl 8,000 8,000 0
O=ZH 5L & A} 8,000,000& = 14 8,000
301 getE a3 1,000 1,000 0
09 SAAHIEA S 1,000 1,000 0
OSH 5 & SAIEIIX AHIE4
1,000,000& * 14 1,000
HEANE S43AIY 283 4,200 3,000 1,200
202 4l 4,200 3,000 1,200
01 = LH 4 1l 4,200 3,000 1,200
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2HEE=
MEE
HEANZ BHA 25

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OANES2ESAMBLA AIMFENH
20,000& = 3H = 702/ 4,200
ElxolAsg MolXA SAMY(ZEEXE) 3,960 3,960 0
307 gl2tol & 3,960 3,960 0
02 IZHE M AHE L 3,960 3,960 0
O&XENE 12 K&
3,960,000& » 19H 3,960
HEANE AIE2 22l X 59,345 8,600 50,745
201 Let24d] 9,345 8,600 745
02 232gHl 9,345 8,600 745
OdIl=z 4,000,000& * 14! 4,000
Odst=E= 4,000,000& * 14! 4,000
OZ&sFH B8 345,000 * 14 345
ON&EZ SN2+ L 245 242
1,000,000& * 14l 1,000
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OHSAE AEFAALE S
50,000,000& * 14 50,000
HEANE HNMQPA HIX 111,960 104,640 7,320
< 55,980
Al 55,980
307 21201 A 111,960 104,640 7,320
< 55,980
Al 55,980
02 It M AHE L 111,960 104,640 7,320
OXSAZE 2P BiX
111,960,000& * 14 111,960
< 55,980
Al 55,980
HSAE DHEES & HSSHAS 56,000 0 56,000
< 28,000
Al 28,000
307 21201 A 56,000 0 56,000
< 28,000
Al 28,000
02 It S AMHEL 56,000 0 56,000
OFSAZE HEAS HE  16,000,0008 * 1A 16,000
< 8,000
Al 8,000
OESAIZE DHHE ESEAEY
40,000,000& * 14! 40,000
< 20,000
Al 20,000




o MEAZ B L (el @2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FEdF=XNY WHEXN =4 52,532 0 52,532
101 @14 Hl 21,752 0 21,752
04 JIZHHZ2XNEE S 21,752 0 21,752
OZA=XE 2223 21,752
=lles 49,5003 * 2% = 180¢ 17,820
oFF 49,500& * 2 * 27 2,673
cXtRa+Y 49,500% * 2% * 6 594
cNEMIEE RES
21,087,000& = 3.15% 665
201 Let24E] 30,780 0 30,780
01 At 22l 26,780 0 26,780
OzH ol Xt 350,000& = 1& = 63 2,100
OolsA shaa Xt
3,500,000& * 1= * 6& 21,000
Ostas 29 4A23F37g 2,000,0008 » 14 2,000
OFXXE 22 =&l
7,0008 * 48 * 60 1,680
02 2324l 4,000 0 4,000
OdIIRa 8 4,000,000& * 14! 4,000
HEANE AL UIAS 5,500,000 1,666,000 3,834,000
J| 2,700,000
< 270,000
Al 2,530,000
401 Al IR 201 I 5,500,000 1,666,000 3,834,000
J| 2,700,000
< 270,000
Al 2,530,000
01 A& HI 5,494,000 1,664,000 3,830,000
OF2MAE AMESEUS A
4,494 ,000,000& * 14 4,494,000
J| 2,696,400
= 269,640
Al 1,527,960
OFE2TAZE AZEEUI A (AIBIFDIH)
1,000,000,000& = 14 1,000,000
03 A& 2 THHI 6,000 2,000 4,000
OF2MAE AMESEUS A
6,000,000& = 14! 6,000
J| 3,600
S 360
Al 2,040
A -HHIY =8N 2,192,000 2,051,000 141,000
sSAJY s4= NE 2,192,000 2,051,000 141,000
S2J|Y SLHX3 0IEA 2,000,000 1,500,000 500,000




- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 ol 2,000,000 1,500,000 500,000
08 OIXtE2& = 2,000,000 1,500,000 500,000
2 SdN3 0E2d
2,000,000,000& * 14 2,000,000
e 1Y s8Iz ¢ 192,000 551,000 359,000
306 192,000 551,000 359,000
01 192,000 551,000 359,000
sSaJEgsEII=a 8¢
192,000,000 * 14 192,000
sHagsd D& 80,000 81,100 A 1,100
KAl AHS 80,000 81,100 A 1,100
£4613 g8 X2 80,000 81,100 A 1,100
307 80,000 81,100 A1,100
02 M EX 80,000 81,100 A1,100
SEEALEY N (SHEEXH)
80,000,000& = 14l 80,000
Ao & 78,800 79,800 21,000
EEnpl ! & 78,800 79,800 21,000
=LUH graal &30 s #AF XE 20,000 22,000 A 2,000
307 20,000 20,000 0
04 MNEEX 20,000 20,000 0
-2 AIE NEXH
1,000,000& * 20 Al 20,000
dEE HALKI & 15,000 15,000 0
201 ]l 5,000 5,000 0
03 =]l 5,000 5,000 0
SUAT ES 2A 29
5,000,000& = 13l 5,000
307 10,000 10,000 0
04 AMEE X 10,000 10,000 0
coam ®I XY
1,000,000& = 1000 & &l 10,000
CTIZNSRAERESHS HALXR 5,000 0 5,000
201 ] 5,000 0 5,000
03 ¢ ] 5,000 0 5,000
MRAEXSE 224 29
5,000,000& * 14! 5,000
EEal Z X3 38,800 42,800 A 4,000
201 gl 8,800 8,800 0




=2: AHIE= 2M  HEAE
TR (= PNE-F S
A ZA0YE HAXEH (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 AP 22| H| 8,800 8,800 0
OBZNY E28 #2% K=
100,000 * 33| 300
OJIgz & 22 250,000 * 23| 500
OZSAJILHS THOH K& 1,000,000& * 53] 5,000
OFZAJIGAACHH EE2 HZ
1,500,000 * 2= 3,000
402 BI2H X201 M 30,000 30,000 0
01 QIZEXIE2AIE 2 X 30,000 30,000 0
O2£=43 AN X
30,000,000& * 14! 30,000
M =2 2e2d 300,000 300,000 0
Xl 150,000
Al 150,000
A - sZEX 2el 300,000 300,000 0]
Xl 150,000
Al 150,000
A - s2SX 245 K& 300,000 300,000 0
Xl 150,000
Al 150,000
401 Al HI L 2 0HHI 300,000 300,000 0
N 150,000
Al 150,000
01 Al& H| 297,600 297,600 0
OF2F 52X L8AL H- 24
297,600,000 = 14! 297,600
Xl 148,800
Al 148,800
03 Al& 201 Y| 2,400 2,400 0
OF2d s2HX “FANE W - Ex
2,400,0008 = 14l 2,400
Xl 1,200
Al 1,200
HHX =208 1,129,476 1,128,748 728
= 203,200
J| 173,100
=} 122,830
Al 630,346
Xl =2 1,129,476 1,128,748 728
= 203,200
J| 173,100
o=} 122,830
Al 630,346
I XIE2FY AXHO UK 2322 21,516 17,348 4,168
201 et | 19,116 12,428 6,688
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3N E= SN ZHEED
BNV IE D= gel P
DU 22

AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
01 AP 22| H| 14,309 8,895 5,414
OJFAED| D] 2 3,295,000 = 14! 3,295
OldXIES =22 H& 3,000,000& = 14! 3,000
OIAEAIDNWYEY EE2=2 M2
3,000,000& = 14! 3,000
ORI ZEAN=E 2AIS2 300,000& = 23| 600
ONUHXIES H2EL(2H02)
2,000,000 = 23] 4,000
OBoHE AEHLD 242
150,000& = 13 150
OB2Z U A42LHA RCES ¥ BH+4
2 110 * 200REC » 12€ 264
02 2324 4,807 3,533 1,274
OJIA A A =42 20,900& = 230AICH 4,807
301 et A= 2,400 2,400 0
09 HAIAHI EAZ 2,400 2,400 0
OJAN SSsS22A 24 M3
2,400,0008 = 14! 2,400
HUX E2AY 23| 4,200 3,000 1,200
202 044l 4,200 3,000 1,200
01 2L I 4,200 3,000 1,200
ONUHXNIESAY g2
20,000 = 3% = 703 4,200
MNBIE LPIIAAE WA ALY 234,000 604,440 A 370,440
= 187,200
& 14,040
Al 32,760
403 XX SRS R 20| & 234,000 604,440 A 370,440
= 187,200
= 14,040
Al 32,760
02 2 2SS0 CHeCH& AL I 234,000 604,440 A 370,440
OKBIZE LPIIAAIAE JHEALS
225,000€ = 1,040 234,000
= 187,200
o= 14,040
Al 32,760
AMNSEXNALE(SZAH) BHLIALE X 32,000 0 32,000
= 16,000
Al 16,000
401 Al HI L £ 0HHI 32,000 0 32,000
= 16,000
Al 16,000
01 Al& H| 31,000 0 31,000
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3N E= SN ZHEED
BNV IE D= gel P

DOHUEX 22 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OMIISEXAE(SZAH) HESAIE &X
31,000,000 * 14l 31,000
= 15,500
Al 15,500
03 Al S THHI 1,000 0 1,000
OMIIESXAE(SZ2AH) HESAIE &X
1,000,000& * 14l 1,000
= 500
Al 500
== TAIJIA E5E 301,960 1,960 300,000
201 ¢er24] 1,960 1,960 0
01 At 22l 1,960 1,960 0
OEAMIAZS SRS 32 =
70,0003 = 142 = 23] 1,960
402 2I2H X201 M 300,000 0 300,000
01 It AP E X 300,000 0 300,000
OHEFe S TAINA T
1,500,000& = 200All CH 300,000
HASES LEDEZ WA AL 120,000 97,000 23,000
J| 83,900
< 10,830
Al 25,270
403 A X EHHS =0l A 120,000 0 120,000
J| 83,900
< 10,830
Al 25,270
02 S| 2 S0l CHEHCH & Ar Bl 120,000 0 120,000
OMASE LEOW M AtY 120,000,000 * 1A 120,000
J| 83,900
< 10,830
Al 25,270
OUXIAES sAMI|IBtAIE 2o 274,500 205,000 69,500
= 82,350
Al 192,150
402 RI2EX20| A 274,500 205,000 69,500
= 82,350
Al 192,150
01 It AL E X 274,500 205,000 69,500
O&THHOIL Xl FEXJ AL
274,500,000& = 14l 274,500
= 82,350
Al 192,150
MASE DX EOIH=E XEAY 13,800 0 13,800
S 4,140
Al 9,660
403 MHtXSHHS =0l & 13,800 0 13,800
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3N E=
BNV IE D= gel P

IS DAY= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 4,140
Al 9,660
02 27|12 S 0ll CH SHCH & AF HI 13,800 0 13,800
ON&£SS D3I+ BEHOIHE X3 AL
60,000& » 230= 13,800
< 4,140
Al 9,660
MBI EXAIE HeAGSea AIY 127,500 0 127,500
J| 89,200
< 11,470
Al 26,830
401 A& HIZ 201 Y| 127,500 0 127,500
J| 89,200
< 11,470
Al 26,830
01 A& HI 125,500 0 125,500
OAZIEXAIE HASESEA ALY
125,500,000& = 1Al 125,500
J| 87,800
< 11,290
Al 26,410
03 AIE S THHI 2,000 0 2,000
OMEISXIAE dEgEea AIY
2,000,000& = 14l 2,000
J| 1,400
< 180
Al 420
ZNHEXNSIY DEZZ 3,220,632 2,905,021 315,611
= 542,000
J| 649,000
< 224,578
Al 1,805,054
S AMZAHAZE 54,000 52,000 2,000
< 26,000
Al 28,000
ZRE DABAE SOtSHEHE 10,000 8,000 2,000
< 4,000
Al 6,000
307 glz2tol & 10,000 8,000 2,000
< 4,000
Al 6,000
10 AL SXAIEEHE 2 H EX 10,000 0 10,000
OLME BOISH=EUE X
8,000,000& * 14 8,000
< 4,000
Al 4,000
OLAE SotSsdsUal K& (ABIFEI)
2,000,000& * 14l 2,000




a=: FHdE= 2A  HHMEEN
Y 22N=NENY DREX
SRl AR EH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
CSEHENEA XNFAMY 44,000 44,000 0
< 22,000
Al 22,000
307 gl2tol & 44,000 44,000 0
< 22,000
Al 22,000
02 It HAHE L 44,000 44,000 0
OL-SEE&EA NI AMY
44,000,000& = 14! 44,000
< 22,000
Al 22,000
S8 L A2 & 108,410 99,710 8,700
22X =Xz 2 22 52,510 45,010 7,500
201 Let24d] 2,510 2,010 500
02 =24l 2,510 2,010 500
OZZ2A=EXag 2 ML BE=
200,000& * 23| 400
OZZ2A=EXg2 nesRLRE=s
610,000& * 13l 610
O2RNEXEZ L44HY 242
1,500,000 = 13l 1,500
307 21201 A 25,000 15,000 10,000
02 LAFAAFEX 25,000 15,000 10,000
OZZ2i=ks 2 24d X
25,000,000 = 14 25,000
401 AIEHI L 2 CHYI 25,000 25,000 0
01 A& HI 25,000 25,000 0
O2Z2N=EXs 2 SZI(LE)MHLASA
15,000,000 = 14l 15,000
OoZ2z=sX22 Xots &I HOIS A
2 MIE=SA 10,000,000 = 14l 10,000
22 R 2E A X2 51,000 51,000 0
301 et a s 19,000 19,000 0
09 AL HIZ &S 19,000 19,000 0
OZ2Xu= HH 24 3,000,000& = 14 3,000
ORYI2X FYSLLZE st
8,000,000& = 14! 8,000
ORELE A U HAAR
8,000,000& = 14! 8,000
307 21201 A 32,000 32,000 0
10 ALSISXAIEEER2IHEX 32,000 0 32,000
OZZ2X2 & HAXA 6,000,000& * 14 6,000




M ox
40 5 4
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OLAQIAESIE 2o s X&
10,000,000& = {14! 10,000
OE XA BAIDIE MU
10,000,000& = 14 10,000
OLEXNY L AIQA stOotsUa
6,000,000& = 14 6,000
22 ANSA S 29 FH| 4,200 3,000 1,200
202 044l 4,200 3,000 1,200
01 2L HI 4,200 3,000 1,200
OLAEd” & 2dXel XY d2F8 oyl
20,000& * 3¥ = 703 4,200
CAIBIEE O &Y 700 700 0
201 et | 700 700 0
01 AR 22l ] 700 700 0
OLANUXEOG 295
70,000 * 5H x 23] 700
nE=1—p| 3,058,222 2,753,311 304,911
= 542,000
J| 649,000
= 198,578
Al 1,668,644
2222 AIY 417,038 426,462 N9,424
& 17,038
Al 400,000
101 2121 4| 417,038 426,462 N9,424
& 17,038
Al 400,000
04 JIZtHIZ22XNSE S 417,038 426,462 N9, 424
O2Z22=z A 417,038,000 * 14! 417,038
&< 17,038
Al 400,000
A &Y FEHXE 16,120 16,120 0
201 et d| 1,120 1,120 0
01 A2t 2| bl 1,120 1,120 0
OMIEIISESHERAXSG JoEELH
70,000 * 8% x 23| 1,120
307 212t0| ™ 15,000 15,000 0]
02 QIZHBAAIE E X 15,000 15,000 0
OMIEIIYE EEXH 15,000,000& = {14! 15,000
NE2SH LXel =& 304,000 532,712 N228,712
= 152,000
& 45,600
Al 106,400
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A2 AHTER SN BHEED
Hu: 22NSNEIY DIES
ool D= CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 10,800
Al 25,200
AN LA XNSHE 24 28,700 21,600 7,100
[ 4,440
Al 24,260
101 Q124 4| 28,700 21,600 7,100
= 4,440
Al 24,260
03 RIHEZZXHE = 28,700 0 28,700
Ol NMEH FHASA 1 HAH(ED]H 2
22X) 22,200,000 * 14! 22,200
= 4,440
Al 17,760
Ol NLEH FHASA 2AAH (AL
(HIHSEZZX}) 6,500,0008 * 14! 6,500
NeldXte &= 743,364 500,000 243,364
101 e1214| 470,364 252,000 218,364
04 JI2ZtHIZ22NEES 470,364 252,000 218,364
O Xel EUX el 470,364
ollgag 31,000 = 1509 * 80Y 372,000
oFES 4G 28,000& = 15098 * 16L 67,200
SR PUE=, 28,000 * 15098 = 4 16,800
oclENMMEE 242
456,000,000& * 3.15% 14,364
201 et 9| 10,000 3,000 7,000
01 AP 2t 2] H| 10,000 3,000 7,000
OKBIL R &S 10,000,000& = 14! 10,000
206 M EHl 113,000 40,000 73,000
01 X ZH| 113,000 40,000 73,000
OAKBl 2 Xtel &= 113,000,0008 = 14! 113,000
307 giztol A 150,000 200,000 A 50,000
10 MM SAANEEHESIHEX 150,000 0 150,000
OZz Y dutg LAl A Y
100,000,000& 14! 100,000
O FUTZNME 50,000,000& * 14 50,000
02718 =4AL 30,000 0 30,000
= 15,000
& 4,500
Al 10,500
307 212t0| & 30,000 0 30,000
= 15,000
= 4,500
Al 10,500
02 QIZHBAAIE E X 30,000 0 30,000
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2

i
2

OS2I LEANE BExS

30,000,000& = 14l

= M W

30,000
15,000

4,500
10,500

=08N JIgM HEXE

=M

60,000

30,000
30,000

60,000

307 21201 &

H

Al

60,000

30,000
30,000

60,000

60,000,000& = 14

= M

60,000

60,000

30,000
30,000

60,000

AEIEIY HEX R AL

=M W

500,000
375,000

25,000
100,000

597,417

A97, 417

307 21201 &

= M W

500,000
375,000

25,000
100,000

597,417

A97,417

= H W

500,000

500,000
375,000

25,000
100,000

597,417

AN97,417

Al

729,000

649,000
80,000

599,000

130,000

307 glz2tol &

o
Al

729,000

649,000
80,000

599,000

130,000

o
N
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y
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=
Q
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O
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729,000,000 = 14

Jl
Al

729,000

729,000

649,000
80,000

599,000

130,000

0y
10

2 JlsdJlUal X&

50,000

50,000

403 TtXI A SA=01A

50,000

50,000

02 ZIIZSOICHSHHEE AL HI
= 10l 5l K2
50,000,0002 * {14l

N
10
S
or
0y

50,000

50,000

50,000




M ox
40 5 4

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
H. 24 die2x2 KNEAY 180,000 0 180,000
== 72,000
Al 108,000
307 2Iz2t0| A 180,000 0 180,000
o= 72,000
Al 108,000
02 QIZHEAAIRE E X 180,000 0 180,000
O - &4E dXelBEX2 KNEFAY
180,000,000& * 14l 180,000
& 72,000
Al 108,000
HESAAL (BHMIEY) 30,325 30,900 A575
Jl2&ddl 30,325 30,900 AN575
Jl2dH| 30,325 30,900 AB75
201 et d| 15,600 15,600 0
01 AP 2t 2] H| 15,600 15,600 0
OAIRD|D] 2258 ¢ 8,140,000& = 14! 8,140
OARE T HFAH| 2,000,000 = 14! 2,000
OJI2gas Al
7,000& * 5% x 132 * 128 5,460
202 044l 7,225 6,800 425
01 2L I 7,225 6,800 425
OJI2gf2+=8 0yl 85,000& * 17¥ * 53| 7,225
203 &2 =&XH| 7,500 7,500 0
01 JI22HE Y FFAH| 3,300 3,300 0
OJ|ad2gge2x=x 3,300,000& = 14! 3,300
04 EASHEHIRFAH| 4,200 4,200 0
OFRMNSIYEEFA 350,000& ~ 12& 4,200
HEeES(AMIEDL) 491,500 848,700 A 357,200
WHEAHA XK= 491,500 848,700 A 357,200
LHEAHCH K= 491,500 848,700 A 357,200
701 JIEISI HSEES2 491,500 848,700 A 357,200
01 JIEIS HE =2 491,500 848,700 A 357,200
OsZ2ANREZLHU2ALIANLSEESH ME2
491,500,000 * 14! 491,500




N = 0l & At & M A

a2 FHEE=R SN B
M NAMH J=XS
ool XMy oIS CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ok 2,019,827 3,100, 171 A 1,080,344
Xl 315,000
< 3,879
Al 1,700,948
ANgard DX 400,000 350,000 50,000
ANSaS s d 300,000 300,000 0
Metpstns 2 (2NHAFXR) 60,000 60,000 0
306 =3 60,000 60,000 0
01 &3 60,000 60,000 0
Odgnstna2d XI&  60,000,000& * 14 60,000
SEWSSHMUAHXAAL (SR X H) 40,000 40,000 0
403 A X EHHS 20l A 40,000 40,000 0
02 S| 2SO0l CHSHCH & Ar B 40,000 40,000 0
OZstussMEH XA
20,000,000 * 208 CH& 40,000
EAISNH FLESRUH 2I(IIHAFXH) 100,000 100,000 0
403 MtXISHE X201 & 100,000 100,000 0
02 BII12SOICHEHCH & AF HI 100,000 100,000 0
OSAJIHXNE HYESUEH 2
20,000,000& = 50 A 100,000
arEtEE HEOE SSAY(RNEFNL) 100,000 100,000 0
403 MtXISHHE A0l E 100,000 100,000 0
02 2SI 2 S 0ll CH SHCH & AF S HI 100,000 100,000 0
OuEtEs M3t SHAY N
100,000,000& * 1Al 100,000
NEADMASH 100,000 50,000 50,000
=38 S Jlsd SR SHAL (St 50,000 50,000 0
HETR)
403 XIS E X201 & 50,000 50,000 0
02 BII 2SOl CHEHCH S AFR I 50,000 50,000 0
Otlz3s s&E JIsd SHIPA4Y SHA
g X 50,000,000 = 14l 50,000
SHSEZ Yl ¥2 2EH0 LA (22 E XA 50,000 0 50,000
@)
403 UHXSHHSA=0l& 50,000 0 50,000
02 S| 2 S0il CH &HCH & A H 50,000 0 50,000
OSH=g4Hlib F3ZEHL A X2
50,000,000 * 14l 50,000
sHag =4 - Ok Et 1,479,143 2,048,437 A 569,294
Xl 315,000
Al 1,164,143




- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FEIsad(IT)E4 779,500 632,500 147,000
X 315,000
Al 464,500
SWEE XI& 472,500 472,500 0
Xl 315,000
Al 157,500
306 ¢ 2 472,500 472,500 0
Xl 315,000
Al 157,500
01 &= 472,500 472,500 0
OZE s/Waty HAF X2 ALY
472,500,000& = 14 472,500
X 315,000
Al 157,500
Z2EXY S/WHEH 2HX& 60,000 60,000 0
306 =43 60,000 60,000 0
01 &= 60,000 60,000 0
OZEXNY S/WNeEXNIJAHdH 2HXE
60,000,000& * 14 60,000
ZE 1UEHXII G ELIAMEH 2 X (A 60,000 60,000 0
@)
306 2= 60,000 60,000 0
01 &= 60,000 60,000 0
OZE1EXRIY HIELIAHH 29 X&
60,000,000 * 14l 60,000
SN FHUSHE 2 2 40,000 40,000 0
306 22 40,000 40,000 0
01 &= 40,000 40,000 0
Ot2H HMnstHEgas 29
40,000,000& = 14l 40,000
NESMEEHME 4SSIML(SHEEXL) 147,000 0 147,000
306 =43 147,000 0 147,000
01 &= 147,000 0 147,000
OXNZGS/NSEHE &85 N
147,000,000& * 14 147,000
A2MEE F4 39,874 88,419 A 48,545
AL 2H 2| 11,200 11,000 200
201 Let2dE] 2,000 2,000 0
01 At 22l 2,000 2,000 0
O&ACR =4 F& 2,000,000& = 14 2,000
202 04l 7,200 7,000 200




T &2 2 SN AT
HOMA =4 &35
Moty =4 (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
01 2L I 7,200 7,000 200
OALTAAZ2A IS S0
20,000& = 5Y * 63 = 128 7,200
203 SR F & 2,000 2,000 0
03 AIZH =X 25 X H| 2,000 2,000 0
OHEZSESSAESR X4 AMBALE2FX
2,000,000& = 14! 2,000
ST M) =dR2A XS 28,674 77,419 N48,745
701 JIEIS HENE2 28,674 27,419 1,255
03 Z2IIYEEHIAHN=ENENES 28,674 27,419 1,255
ORISTZ M) =dR2A 2dXts A&
28,674,000 * 14! 28,674
A =4 659,769 623,118 36,651
ZMA)=dR2H AAXE=2E 194,729 186,118 8,611
306 =2 100,000 100,000 0
o1 s 3 100,000 100,000 0
OBRMAI| SIS A2 2YX &
100,000,000& * 14! 100,000
701 JIEISI HSEE2 94,729 86,118 8,611
03 2I)IHYEEHIHN=2ANEZ2 94,729 86,118 8,611
SBRMAISHTR FAAN AR AY LK
AxtE U8 94,729,000& * 1A 94,729
AMAMASHAIY SH AL 5,040 7,000 A 1,960
202 04d| 5,040 7,000 A 1,960
01 2L I 5,040 7,000 A 1,960
OfLHI0IL - AATH SAAS |
20,0008 = 3Y¥ * 73 = 128 5,040
ZENSFMARNER] 2K 420,000 380,000 40,000
306 52 420,000 380,000 40,000
01 s 2 420,000 380,000 40,000
OLSHstMARER 2HY N
420,000,000 * 14! 420,000
2A AKX 40,000 50,000 A 10,000
201 et 9| 40,000 50,000 A 10,000
01 AP 22| H| 40,000 50,000 A 10,000
OdFRA =4 X2 40,000,000& * 14l 40,000
A A= 96,820 645,780 A\ 548,960
A2 96,820 645,780 A 548,960
A2XNE=S 42,260 40,580 1,680
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raox nx

= NS
B NAMAE
2l JIL R

AT .RN B S9(3H) - NEAY o AF o San H D2
201 Bt A | 35,660 33,980 1,680
01 AP 2t 2l Yl 25,660 23,980 1,680

Oget=gH| 19,500
o(0ld™IY B3I 2,500
oJlgax R 9,000
oJ|IgsXl JE 6,000
o SHAACHT] O|AE B
2,000
o294 6,160
cIlAFXRAAS so+Y
70,000& * 12Y 3,360
CEXRSH 3
70,000& *» 20 2,800
03 S AIS H I 10,000 ,000 0
OJIgswx &9 10,000
301 dBEtE A= 1,600 ,600 0
M IIEtE A2 1,600 ,600 0
OEXXA22 & 200,000& * 29 1,600
401 Al HI YL 2 0HHI 5,000 ,000 0
01 A& HI 5,000 ,000 0
Ofstagdex =
&l 5,000
I KX 2 A 5,000 ,000 0
301 dBtE A= 5,000 ,000 0
1M IIEtE &2 5,000 ,000 0
OJIgsdn32( Al 5,000
Ol&JIg AKX 40,200 ,200 0
301 dEtEAZ 40,200 ,200 0
11 IIEtE &2 40,200 ,200 0
O&= otd 3 36,000,000 14 36,000
O8zxF &3 14 4,200
IGRIAME 293l 9,360 ,000 A 640
202 (4] 9,360 ,000 A 640
01 2L Y] 9,360 ,000 A 640
OJIgwisgs
000& * 39¥ = 133 * 12& 9,360
X &t X & 20,970 24,254 N3,284
= 3,879
Al 17,091
HNUHX E2 A 20,970 24,254 N3,284
= 3,879




AR FHEER SN WA
Ha: UK MY X
@2 UK 22 At (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Al 17,091
MASEFE L2HIIANE HE=> 7,980 7,980 0
< 2,394
Al 5,586
201 ¢er24E] 7,980 7,980 0
< 2,394
Al 5,586
01 At 2t 2l 7,980 7,980 0
OMASEZY LFINL Hes
79,800& = 1007t 7,980
< 2,394
Al 5,586
S AR 8,040 6,000 2,040
201 £B-2dH| 3,000 3,000 0
01 At 22/l 3,000 3,000 0
OQUXREHALY =&l 3,000,000 = 14l 3,000
202 044l 5,040 3,000 2,040
01 = LH o4 1l 5,040 3,000 2,040
O LHRE =& Ml
20,000& = 3H * 73| » 123 5,040
HEANE =2HIIANLE HE = 4,950 0 4,950
< 1,485
Al 3,465
402 RI2EX=20l A 4,950 0 4,950
= 1,485
Al 3,465
01 It AL E X 4,950 0 4,950
O HSANE =2HIANE X HE=>
4,950,000& * 14! 4,950
< 1,485
Al 3,465
HE I (Mo ) 22,894 31,700 A 8,806
Jl= &l 22,894 31,700 A 8,806
Jl=dl 22,894 24,600 A 1,706
201 £B-2dH| 12,744 11,400 1,344
01 At 22l 12,744 11,400 1,344
Oget=gH| 9,720
oI AFESHI 300,000& = 12003 3,600
o AY el L LADEH
300,000& = 12003 3,600
= J|Et==&H| 2,520,000& * 14l 2,520
O=gtl 3,024
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N = 0l & At & M A

a=: FHdE= £ SRS
Mo SEUEIIBASE
o9l sEgAs = (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
=S M 14,977,034 14,161,273 815,761
2 5,368,421
Xl 1,393,000
J| 266,785
< 792,459
Al 7,156,369
SELHI|IB TS 1,892,852 1,819,040 73,812
= 55,792
Xl 1,054,000
< 20,550
Al 762,510
sEggs =2 296,152 375,140 A78,988
= 55,792
< 20,550
Al 219,810
SsE2Y 2435 9,500 6,600 2,900
201 et 4,500 2,600 1,900
01 At 2teltl 4,500 2,600 1,900
Oger=EH| 2,900
ocs0E QI EXE HE 20,0008 * 700H 1,400
SHEMESL0SSAA AE WS WA
B 15,000& » 1008 1,500
Ogxz 1,600
os0E MSOS 88 B4 YR
800,000& » 20H A 1,600
LEtE A= 5,000 4,000 1,000
HALAHI B &= 4,000 4,000 0
OsHENMEF A0S MRE ISEA U2
o 3,000,000 = 14 3,000
OsEaZeds Q2o W2y
100,000& = 5% = 22| 1,000
JIEtE 4= 1,000 0 1,000
OsSZEMEXNEZAN & il ddus b2
1,000,000& * 14l 1,000
22 e 43 233 6,800 5,300 1,500
[ll=] 4,800 3,300 1,500
= LH 04 H 4,800 3,300 1,500
OsTEAHAL =& o4
20,0008 = 3 = 802l 4,800
AR = 2,000 2,000 0
ABF=AYRFEY| 2,000 2,000 0
OsZANHHRFA 2,000,000 * 14l 2,000
Ss20tE AIRE MHEXE 172,800 95,040 77,760
= 36,000
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ARV EES = 5 2
HE: sEUMIIBRE
©el: sEEEE =A o HE)
- _ — d =
AR SA Y- SAEA) - HRAY - BES e 2
< 7,200
Al 129,600
307 glz2tol & 172,800 95,040 77,760
= 36,000
< 7,200
Al 129,600
02 IZtE M AHE X 172,800 95,040 77,760
OsMEMNENSARENS
1,200,000& » 6% » 128 86,400
= 36,000
< 7,200
Al 43,200
O=sZMNESLUSAREHS (ABIFIL
1,200,000& » 6  12& 86,400
SMZEO0IE SHAE 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH 2 = 6,000 6,000 0
O=AZ0ts EMAA 6,000,000& * 14! 6,000
SENSSL0S HEgss2IXE 15,000 15,000 0
< 3,000
Al 12,000
307 glz2+ol & 15,000 15,000 0
< 3,000
Al 12,000
02 QB AAHFEX 15,000 15,000 0
OsZEHE 520l Megss 28X
30,000,000& = 14! = 50% 15,000
< 3,000
Al 12,000
sHE MEXNZA- OtSoH&EIt 24 11,700 11,700 0
< 3,900
Al 7,800
307 glz2+ol & 11,700 11,700 0
= 3,900
Al 7,800
02 QIZtE M AHEE 11,700 11,700 0
OsHENMEXNEZAL & OtSoll&0 &4
13,000,000& = 14 » 90% 11,700
< 3,900
Al 7,800
=30t M 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 QIZFHALALH 2 = 6,000 6,000 0
OZs0t8 sSHAE 6,000,000& * 14! 6,000
& olote SMAA 6,000 6,000 0
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ARTER SN SYFHI
SEUFI|MDE
sEEEs =8 (cho &)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
307 glz2tol & 6,000 6,000 0
04 DI2HHALALSE E X 6,000 6,000 0
Odi&oltts EMAA 6,000,000& * 14! 6,000
23202 SHA 5,000 5,000 0
307 eIzl & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
Oxz=20t2 =SHAE 5,000,000& * 14! 5,000
tholotse sSMX A 7,000 7,000 0
307 21201 A 7,000 7,000 0
04 QIZFHALAIH B = 7,000 7,000 0
ouolotE =MX&A 7,000,000& = 14 7,000
SHELUHXA 8,424 0 8,424
= 4,212
Al 4,212
307 21201 A 8,424 0 8,424
= 4,212
Al 4,212
02 IZtA M AHE L 8,424 0 8,424
OsHELE MHA XD
8,424 ,000& 14 8,424
= 4,212
Al 4,212
SsHEQUY EHSXA(ZHOIX EL) 14,000 0 14,000
< 4,200
Al 9,800
307 21201 A 14,000 0 14,000
= 4,200
Al 9,800
02 It S AIHE L 14,000 0 14,000
Os0E0le 2453 NA(EHOIX E8)
20,000,000& = 141 = 70% 14,000
< 4,200
Al 9,800
SEMEs20s S22 us 4,168 0 4,168
= 2,605
Al 1,563
307 21201 A 4,168 0 4,168
= 2,605
Al 1,563
02 It S AHE L 4,168 0 4,168
OsENgs20s 9&2ds u=s
5,210,000& = 14 = 80% 4,168
= 2,605
Al 1,563
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A2 AHTER o 5 2
Mo SEUEIIBASE
ool sEEG =X SEREED)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
SEMEs20S 280t X2 8,760 0 8,760
= 5,475
Al 3,285
307 gl2tol & 8,760 0 8,760
= 5,475
Al 3,285
02 It HAHE L 8,760 0 8,760
OsZdEgsd0s 28t N2
10,950,000& 14! = 80% 8,760
= 5,475
Al 3,285
=& &3 Ed X 15,000 0 15,000
= 7,500
= 2,250
Al 5,250
307 gl2tol & 15,000 0 15,000
= 7,500
< 2,250
Al 5,250
02 IZtEHAHE L 15,000 0 15,000
O=sZ& &&=y & 15,000,000 = 14l 15,000
= 7,500
< 2,250
Al 5,250
LS MADIEt 24 ,596,700 1,443,900 152,800
Xl ,054,000
Al 542,700
M SEOCSSE N ALY ,304,000 1,428,000 A 124,000
Xl 913,000
Al 391,000
403 MtXISHH S0l & ,304,000 1,428,000 A 124,000
Xl 913,000
Al 391,000
02 BJ|2SO0ll CH SHCH & AF 2 HI ,304,000 1,428,000 A 124,000
O SENSENLAIL
1,304,000,000& * 1Al ,304,000
N 913,000
Al 391,000
SHEUERZS 24 6,500 6,400 100
201 ¢er24l 6,500 6,400 100
01 At 2t 2l 6,500 6,400 100
Oget=ZH| 6,500
cMsHEAE2S E2= MAE
6,000,000& * 14! 6,000
CMsSOHEALEES EItA M=
500,000& * 14l 500
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A2 FREE=R & b
Hu: SEUEIIBAS
Ol mEAS MM X4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
MsOHEZLE2s sS40t N& 30,000 5,000 25,000
402 2I2H X201 M 30,000 5,000 25,000
01 It AL E X 30,000 5,000 25,000
OMsHEALER2S (A220t2)
30,000,000 * 14 30,000
sENY 2L 5,200 4,500 700
201 Let24dy] 1,000 1,000 0
01 At 22/l 1,000 1,000 0
Oger==EH| 1,000
OSENY U UBHSAMOENL HI ol
10,0008 = 505 = 2& 1,000
202 O4dl 4,200 3,500 700
01 =L 4 Hi 4,200 3,500 700
OsSENLYR F=AAHHI
20,000& = 3H = 703 4,200
202 HEE d3aANE 50,000 0 50,000
402 QI2H X201 M 50,000 0 50,000
01 B2t AP E X 50,000 0 50,000
OZ=0tE MEE AL
50,000,000& * 14 50,000
HEXHOSUHSI(Z - ME) 151,000 0 151,000
Xl 106,000
Al 45,000
402 RI2HXt20l ™ 151,000 0 151,000
Xl 106,000
Al 45,000
01 22t t= AP E XL 151,000 0 151,000
oS3 (32 - Me)(Es)
151,000,000& * 14 151,000
Xl 106,000
Al 45,000
sEHgNIGAF L3 50,000 0 50,000
Xl 35,000
Al 15,000
307 21201 A 50,000 0 50,000
Xl 35,000
Al 15,000
02 It S AHE L 50,000 0 50,000
OAzZg &t 50,000,000 = 14 50,000
Xl 35,000
Al 15,000
SHUALASY HoYH St 4,720,219 3,776,810 943,409
= 4,086,767
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AR FREE=R SN sYFED
M SolASY MOF A
o9 sgel =X 53 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 58,465
= 110,665
Al 464,322
sgel =X &8 579,150 587,100 AT,950
= 157,600
= 84,820
Al 336,730
dRyzae 29 2,500 2,500 0
= 2,500
202 O4dl 2,500 2,500 0
= 2,500
01 = LH 4 Hi 2,500 2,500 0
OFFL=2e| FAAHI 2,500,000& * 14 2,500
= 2,500
=g DwMIH SX=a XA 196,000 188,000 8,000
= 29,400
Al 166,600
301 et a = 196,000 188,000 8,000
< 29,400
Al 166,600
02 Zet=sk=s 196,000 188,000 8,000
Oseiol DRMRE 33
196,000,000& * 1Al 196,000
< 29,400
Al 166,600
=Ie20 X 4,800 4,200 600
= 1,200
Al 3,600
301 et d = 4,800 4,200 600
= 1,200
Al 3,600
MIIEEd=3 4,800 4,200 600
OsJtE0 X 4,800,0008 * 14 4,800
< 1,200
Al 3,600
SEHLZE02UN LILE2XA 6,600 6,600 0
< 1,320
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402 2I2tXE201 & 40,000 40,000 0
01 2I2tt= AP E & 40,000 40,000 0
Od=gel 28I K&
2,000,000& * 40CH * 50% 40,000
H Eais ZIIYH sAXd 300,000 300,000 0
402 212t X201 & 300,000 300,000 0
02 2I2HCH & AL HI 300,000 300,000 0
Odigds HIILH s%XA
500,000,000& * 60% 300,000
H SRoteA X2 18,750 18,750 0
402 RIZEX201 A 18,750 18,750 0
01 It =2 AL B X 18,750 18,750 0
Ol ERot*A AXXA
7,500,000& = 5& = 50% 18,750
FIZE 22X ALY 2,324,400 2,218,480 105,920
= 1,109,000
= 133,080
Al 1,082,320
402 RI2EX=20l A 2,324,400 2,218,480 105,920
= 1,109,000
< 133,080
Al 1,082,320
02 21 2HCH & A S HI 2,324,400 2,218,480 105,920
O®RJIE HEXNH 1,774,400,000& = 14 1,774,400
= 1,109,000
< 133,080
Al 532,320




A2 FREE=R & b
Hu: YSsMNS FAAG
ool ARSYYE HD (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
ORJI& BIZXI&A(AIBIZ=DL)
550,000,000& * 14l 550,000
AYHNE 20 N 8,360 9,580 A 1,220
201 £B-2dH| 2,100 2,480 A 380
01 At 22l 2,100 2,480 A 380
O=etl 2,100
ocZ3HE=0 Sl
7,000& * 10€ = 303 2,100
202 oddl 3,760 3,000 760
01 = LH o4 4l 3,760 3,000 760
OAgxsE =2 20,0008 = 2H = 943 3,760
301 et a3z 2,500 4,100 A 1,600
09 AL HI B &S 2,500 4,100 A 1,600
OXMASHE EHIHA U 24
2,500,000& * 14 2,500
H A2 & oteA XX 9,750 16,250 A 6,500
< 2,925
Al 6,825
402 212t A= 01 & 9,750 16,250 A 6,500
< 2,925
Al 6,825
01 A=A EX 9,750 16,250 A 6,500
Ol 2Xels stA
19,500,000& * 14l * 50% 9,750
< 2,925
Al 6,825
FEAM ZEAXD 22 5,000 5,000 0
< 1,500
Al 3,500
402 212t X201 & 5,000 5,000 0
< 1,500
Al 3,500
01 It =2 AL E X 5,000 5,000 0
O3H¥ed s22dx)| 58
10,000,000& * 1CH * 50% 5,000
< 1,500
Al 3,500
gdl &4z XA 20,000 20,000 0
402 RI2EX=20l A 20,000 20,000 0
01 It 2 AL E X 20,000 20,000 0
O&dl&zZl X& 5,000,000& = 8CH * 50% 20,000
H SR 4 X2 Ad 25,000 0 25,000
402 212t X201 & 25,000 0 25,000
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a2 AHTER & s
HE: YSsM2 IHAYS
el AYASHME FD SRED)
- _ — d =
AR SA Y- SAEA) - HRAY - BES e 2
02 BI2HCH & AFH HI 25,000 0 25,000
O s2&X XI&  1,000& * 50,0004 * 50% 25,000
sHAEMHEEZ K& 32,100 24,705 7,395
< 9,600
Al 22,500
402 RIZFR201 ™ 32,100 24,705 7,395
= 9,600
Al 22,500
02 2I2HCH & A S HI 32,100 24,705 7,395
OsH=MHEE X 32,100,000 * 14 32,100
< 9,600
Al 22,500
HAEHEHNZ S 153,100 76,000 77,100
< 45,930
Al 107,170
402 RI2EX20| ™ 153,100 76,000 77,100
< 45,930
Al 107,170
02 BI2HCH & AL HI 153,100 76,000 77,100
OZIEHE AL XA
153,100,000& * 14 153,100
< 45,930
Al 107,170
L RAE=S 83,300 66,500 16,800
< 24,990
Al 58,310
402 RI2HXt20l 83,300 66,500 16,800
< 24,990
Al 58,310
02 BI2HCH & AL &1 HI 83,300 66,500 16,800
OZJZTA 23 =4 A&
166,600,000& = 141 » 50% 83,300
< 24,990
Al 58,310
SOt ALE EH K& 37,800 37,800 0
402 RIZEXtE0| A 37,800 37,800 0
02 2I2HCH & A S HI 37,800 37,800 0
OSAATAEZY X2
36,000& = 1,50008 * 70% 37,800
a2 LHI N 7,500 7,500 0
402 RIZ2EXt201 A 7,500 7,500 0
01 It 2 AL B X 7,500 7,500 0
ORI, AFI XA
1,500,000& * 10CH * 50% 7,500
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A2 FREE=R & b
Hu: YSsMNS FAAG
Sl AZESIME KD CEEEED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OHERAXN 28] 22
5,400,000 = 14! x 50% 2,700
& 810
Al 1,890
Xl St A Z HHH S X 4,000 0 4,000
== 1,200
Al 2,800
402 BI2H X201 M 4,000 0 4,000
& 1,200
Al 2,800
01 QIZEXIE2AIE 2 X 4,000 0 4,000
O EAZ2MUEX 8,000,000& * 1A % 50% 4,000
= 1,200
Al 2,800
= == 243 150,000 150,000 0
& 45,000
Al 105,000
S| MALX & 150,000 150,000 0
& 45,000
Al 105,000
402 SI2F X201 & 150,000 150,000 0
o=t 45,000
Al 105,000
01 QIZEXIE2AIE 2 X 150,000 150,000 0
Ox==33| MoK
300,000,000 * 14! % 50% 150,000
& 45,000
Al 105,000
HESHAH (sH™H M) 25,910 29,600 A 3,690
JlE&dl 25,910 29,600 A 3,690
Jl2 &4l 25,910 29,600 A 3,690
201 gBt24y| 14,880 14,800 80
01 AP 22| H| 14,880 14,800 80
O#HHFANREEH| 150,000& = 12& 1,800
OMEBIID 228 500,000& = 12& 6,000
OAFRR =464 50,000& * 12& 600
OARE S AP 160,000 = 33 480
OJIEtx=2H] 1,296,000 * 14! 1,296
OJlegesdigalyl
7,000 * 8% x 73 » 12& 4,704
202 04| 6,630 6,800 A 170
01 2Ll 6,630 6,800 A 170
OJleg224+s8 | 85,000 * 13¥ * 63| 6,630
203 €2 F=&d| 3,000 3,000 0
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A= AEAER 2A sS4
Ha: HFENAWY 23
ool HAAY B4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
StNRFSAAMY 372,810 371,430 1,380
J| 223,686
& 29,825
Al 119,299
307 2Iz2to| & 372,810 371,430 1,380
Dl 223,686
= 29,825
Al 119,299
02 QI AAIE E X 372,810 371,430 1,380
Ostueaald N
3,468% * 250 * 430 372,810
J| 223,686
= 29,825
Al 119,299
St EEME XN 45,000 42,260 2,740
o 13,500
Al 31,500
402 BI2H X 20| M 45,000 42,260 2,740
& 13,500
Al 31,500
02 I 2HCH & AL HI 45,000 42,260 2,740
Ost2 NIMAD|E X4
45,000,0008 = 14l 45,000
= 13,500
Al 31,500
SO0FAl A AOHH AL 10,000 10,000 0
o=t 2,000
Al 8,000
402 SI2vXH=20| ™ 10,000 10,000 0]
o 2,000
Al 8,000
02 I 2HCH & AL HI 10,000 10,000 0
OSO0HAl A AOHA 20,000& = 1,000 * 50% 10,000
= 2,000
Al 8,000
St HECEHdE 4 66,430 66,430 0
& 19,930
Al 46,500
307 2iz2tol A 66,430 66,430 0
& 19,930
Al 46,500
02 QIZIA AAIE E X 66,430 66,430 0
Oste ¥E8de &4 66,430,000& * 14 66,430
o= 19,930
Al 46,500
HEAE AN 105, 150 240,000 A 134,850
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A3 AHTE= SN EAD
Ha: HFENAWY 23
SOl oMY S4 (Etsl: &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 31,545
Al 73,605
307 glz2tol & 105,150 240,000 A 134,850
= 31,545
Al 73,605
02 It M AHE X 105,150 240,000 A 134,850
Oz FFdus X 105,150,000& * 14l 105,150
< 31,545
Al 73,605
A=8HE =4 50,000 36,340 13,660
= 15,000
Al 35,000
402 RIZ2HXt20l ™ 50,000 36,340 13,660
= 15,000
Al 35,000
01 ATt EAEEX 50,000 36,340 13,660
ogszEdE 84 50,000,000& = 14 50,000
= 15,000
Al 35,000
U ESE BEF4 3,500 6,900 A 3,400
< 1,050
Al 2,450
402 2I2H X201 M 3,500 6,900 A 3,400
< 1,050
Al 2,450
01 B2t AL E X 3,500 6,900 A 3,400
OESE 83384 X& 3,500,000 = 14l 3,500
< 1,050
Al 2,450
JI=THoll 2 & 94,500 36,660 57,840
= 28,350
Al 66,150
307 glz2+ol & 94,500 36,660 57,840
< 28,350
Al 66,150
02 QIZtE M AHEE 94,500 36,660 57,840
OJI =Ml EE 94,500,000 * 14 94,500
< 28,350
Al 66,150
ESY EE2N S3AY 33,332 0 33,332
J| 16,666
< 5,000
Al 11,666
402 RI2EXt20l 33,332 0 33,332
J| 16,666
< 5,000




FMEE= M =e
HYENAY B3
BN S (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
Al 11,666
01 It 2 AL E X 33,332 0 33,332
OEsg BSEH=ES 33,332,000& * 14 33,332
J| 16,666
< 5,000
Al 11,666
FHXNY AT EA EFFHAY 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& HI 290,000 0 290,000
OEAM s3EH 24 - E
290,000,000 = 100 290,000
03 Al S HHI 10,000 0 10,000
O&AM s3EH 24 - E
10,000,000 = 1002 10,000
ZRER SEEYE 245t 15,500 0 15,500
< 6,450
Al 9,050
307 21201 A 15,500 0 15,500
< 6,450
Al 9,050
02 QB AANFEE 15,500 0 15,500
OYRE? SHIUE FHF
15,500,000 = 14l 15,500
< 6,450
Al 9,050
=S4 HESE ZLEAY 105,000 0 105,000
< 31,500
Al 73,500
402 RIZER20l ™ 105,000 0 105,000
< 31,500
Al 73,500
01 It =2 AL B X 105,000 0 105,000
oxMg=s&d =4 105,000,000& * 1JH A 105,000
< 31,500
Al 73,500
L2 YA 2e) 1,371,208 1,176,257 194,951
= 452,573
J| 54,015
< 102,356
Al 762,264
IIEHEY HYES NFAY 172,410 172,410 0
201 Let24d] 11,710 11,710 0
01 At 22l 11,710 11,710 0
ONSLYIITNM 2e2l=X 600,000& * 52 3,000
ON=LA=S 2,710,000& = 14 2,710
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A= AHEER M S
HE: HIEMFMY Y5
SHol: B2 orEEY] 2 (S5 &)
2SN B () NEAY - BAS 0 AF o il HZS2
OJsdEY =2 &0 gx&
400,000& = 153 6,000
206 M = Hl 61,600 61,600 0
01 & bl 61,600 61,600 0
OJIZ2EIFEA WA= 10,000& = 3004 3,000
O#t2, X4 5tBI 75 L WYAE
20,0008 * 4004 8,000
OHX A2HEY WgA2S 20,0008 * 3004 6,000
OHX,& 3718 g3 60,000& * 1504 9,000
O=dg s & &I A
15,000& * 6002 9,000
Odt&)| Rt A 10,000& = 660Y 6,600
Oy YM 2832 E (s, 24 HAL,H)
5,000,000& * 2& 10,000
OstdaY YA 20,000& * 2504 5,000
Olisgdgs gdada=s 5,000& = 1,000¢ 5,000
301 dEtE A= 99,100 99, 100 0
09 HAIAH EA= 900 900 0
O3x2 Bx1= 150,000& = 39 x 23] 900
1M IIEtE &2 98,200 98,200 0
o329 =Y 700,000& » 3 x 12& 25,200
O3=2 HMEH 400,000& = 3% 1,200
OAY HYES 1,000& * 8,8005% 8,800
OFHMS oflgesal 5,000& * 12,6005 63,000
ANl AYYAA 35,140 34,740 400
201 LEt2 A Y| 2,640 2,240 400
01 At 22l Yl 2,400 2,000 400
Oogtdotl &9 80,000& * 309H A 2,400
02 =294l 240 240 0
OJsgdxe 0 24,000& = 102 240
206 M = Hl 32,500 32,500 0
01 M= bl 32,500 32,500 0
OAYIIIENEY Mel(MelMz , 43, Hal S)
25,000,000& = 14! 25,000
OFMEASA 3,000& * 2,500% 7,500
M ogeal XA 174,960 81,000 93,960
206 M =8l 174,960 0 174,960
01 = bl 174,960 0 174,960
OFHS 0 &tes 2,000& = 87,4805 174,960
Ol XIS XHEH 2 & 25,000 28,000 A 3,000
402 QI2t X201 A 25,000 28,000 A 3,000
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)M O
= R0
R0 RO W
o oF
U RO 01

<

n0

Kio

Hl w

A 3,000

500

500
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A 80

A 80

A 80

34,275

34,275

34,275

H3r
Wikd
RIS

28,000

15,150

3,000
3,000

12,150

750

11,400

20,000

20,000
20,000

2,000

2,000
2,000

73,755

73,755

73,755

20,818

20,818

20,818

Off &t 24

25,000

25,000

15,650

3,500
3,500

3,500

12,150

750
750
11,400

7,200
4,200

20,000

20,000
20,000
20,000

1,920

1,920
1,920

1,920

108,030
54,015
10,803
43,212

108,030
54,015
10,803
43,212

108,030

108,030
54,015
10,803
43,212
20,818

Il

H

Al

Il

0!

Al

Jl

H

Al

H

2,060
18,758
20,818

Al

2,060
18,758
20,818

Al

[unl

2 o« 50 A~ 50%

P

10,000,000

ol

30
OH

ol
<+
ar
10
Ko

30
0B
o]
ol

201

2teld

01 ALS

3,500,000 = 14

ro
<0
mj

o]
oll

O
E
<+

150,000& =* 53]

no

<0

s

11 JIEE

o+ 128

o
=

600,000
350,000

il

K0

o
i

=

2l x 12

2
|

0
<+
ok
nJ

Oobl

, =1

ol

4
&l
ol

<K

Ho

206 M= Hl

01 = dl

20,000,000& » 14

o}

R0
30
0B

K]
KE
ar

&)
oJ

0

<]

202 o4 Hl

01 SLHOYI

KJ
KE
0F
oD

gl
ar

B
oJ
O

i

|« 2% * 483

2
|

20,000

M0

i

i

A=0ld

36,010,000& = 38

OH

ol
=

10

M0

oH

KJ

206 M= Hl

01 M= Hl
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M ox
40 5 4

oy H
Bl
>
i
z
)

= 2M -3 -HA(EAH) - MRAY - BES Off &t 24

&
=

i
2

OdY=sI A=ASXE  20,818,0008 * 14! 20,818
2,060
18,758

= M

Db ALY (Z A 548,681 507,192 41,489
332,573
44,940
171,168

= W

206 M= Hl 355,505 229,412 126,093
237,845
23,533
94,127

= MW

01 M= dl 355,505 229,412 126,093
OJ=gd (3 205,505,000& = 14 205,505
132,845

14,533
58,127

= N H

150,000,000& = 14! 150,000
105,000

9,000
36,000

61,656 59,556 2,100
25,368
8,975
27,313
NJIEEd=s 61,656 59,556 2,100
OFLAES AR GPS=blE R
9,900& = 129H& + 240CH * 50% 14,256

7,128
2,138
4,990
S&H  7,000& * 3,900% 27,300
8,190
3,822
15,288
OuLEE Al 3,000& = 6,700 20,100
10,050
3,015
7,035

307 21201 & 113,520 218,224 A 104,704

56,760
11,352
45,408

113,520 218,224 A 104,704
113,520,000& * 1Al 113,520

56,760
11,352
45,408

= W

301

e
T
H
0z
oy

= W

nx

i

(i}

O
T
sl
Nz
s
0%
Pl
g
= N

Z N W

= W

[m]
U

= W

02 21zt

0z
>
R
H
FA

O
=
A}
1€
>
=
{0

= HmnH
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Bl
>
i
z
)

CRA B G (3H) - A

!
=
8%}
3]
0x
Jo

=

i
2

402 212t Xt=01&

= N H

18,000
12,600
1,080
4,320

18,000

9,000,000& =+ 23l

= M W

18,000

18,000
12,600
1,080
4,320

18,000

= i

42,408

12,680
29,728

28,

14,136

H

Al

42,408

12,680
29,728

28,

14,136

04 JIZtNZ22XSE+

=]

ONETEE HYBSEEE K&

42,408,000& * 14!

= M

42,408

42,408

12,680
29,728

28,

14,136

oA X

m

Al

10,000

3,000
7,000

25,000

402 RI2HX=2 01

= M

10,000

3,000
7,000

A5,000

01 et HEAMHEE

OL=AE &£X

5,000,000& = 4JH2 * 50%

=

10,000
10,000

3,000
7,000

25,000

3
_>{l_|
A
H
0z
oy
b
{0

= MW

150,000
120,000
15,000
15,000

150,

= MW

150,000
120,000
15,000
15,000

150,

2,500,000& = 605

= W

150,000

150,000
120,000
156,000
156,000

150,

=

23,941

7,198
16,743

3,920

20,021
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AMTE
HEEMNBHY 2
RN T

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
307 glz2tol & 23,941 3,920 20,021
< 7,198
Al 16,743
02 BI2HE & A 23,941 3,920 20,021
ONEFE AEYHASSH X
23,941,0008 * 14 23,941
= 7,198
Al 16,743
SNEESIH HFISAHME A X 10,000 10,000 0
< 3,000
Al 7,000
301 gt d= 10,000 0 10,000
< 3,000
Al 7,000
1MIIEBESS 10,000 0 10,000
OGME==It HETSAHEIAXR
80,000& = 2505 = 50% 10,000
< 3,000
Al 7,000
SOOI SAE GIZX 7,250 4,000 3,250
< 2,175
Al 5,075
307 21201 A 7,250 4,000 3,250
< 2,175
Al 5,075
02 BI2HA &F A 7,250 4,000 3,250
O&0HA & f
10,000& = 1,450 * 50% 7,250
< 2,175
Al 5,075
Bleis=E SSEM X 5,000 10,000 25,000
< 1,500
Al 3,500
301 LBt A 5,000 0 5,000
= 1,500
Al 3,500
1MIIEESS 5,000 0 5,000
Otteis=SEHM X&A 10,000& » 5005 5,000
< 1,500
Al 3,500
Ms0F 2ot 1,126,193 1,030,796 95,397
= 3,200
J| 72,023
< 102,784
Al 948,186
TAE MM Y B Yl KA 40,000 40,000 0
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A2 HHEER SN EaD

Ha: HFENAWY 23

Sl BiEIL FYOY CERED
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
402 SI2FXHE0| M 40,000 40,000 0
01 QIZEXIE2AIE 2 X 40,000 40,000 0

OXZ At MA0IE J1H,&H XS
40,000,000& = 14! 40,000
SAMNAE SHIMNS XNSAS 30,000 60,000 A 30,000
402 SI2HXH=20| ™ 30,000 60,000 A 30,000
01 QIZEXIE2AIE 2 X 30,000 60,000 A 30,000
OFAMNAE EHINLXS 30,000,000& * 14 30,000
HNA SN ANSAY 20,000 20,000 0]
307 2iz2to| & 20,000 0 20,000
02 QIZ2HA AAIE E X 20,000 0 20,000
OXAHE L HAHTRA 20,000,000& * 14! 20,000
SHR) - 82 AMSsIH AI222UHl N ALS 300,000 300,000 0
307 QI2t0| ™ 300,000 300,000 0
02 It AAIE E X 300,000 300,000 0
QeHE) 82 MSsSsIH Al2322dl X
300,000,000& = 14l 300,000
et SA HEH ANEAY 20,000 20,000 0
206 M = Hl 20,000 20,000 0
01 X2 H| 20,000 20,000 0
OrEH FSAHE K& 20,000,000& * 14! 20,000
SMERE EYH MDA XNSFAY 21,000 21,000 0
402 SI2F 20| & 21,000 21,000 0
01 A2t SAIE E =X 21,000 21,000 0
OotdzAEzE23 XA
2,000,000& * 15J0HA % 70% 21,000
FShsI YA =N 23 H| 1,920 2,000 A 80
202 o4 | 1,920 2,000 A 80
01 2Ll 1,920 2,000 A 80
SMEIIEYNE ALEHOY|
20,000 * 2% « 483 1,920
ZANES THHHEOH &L MALX& 16,200 46,000 A 29,800
= 4,860
Al 11,340
307 2iz2tol A 16,200 46,000 A 29,800
= 4,860
Al 11,340
02 QIZ2FA AAIE E X 16,200 46,000 A 29,800
OANE&Z2 S K& 16,200,000 = 14! 16,200
= 4,860
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rooox
40 5 4
N

Off &t 24

=

i
2

Al

11,340

= i

104,050

31,220
72,830

40,

000

64,050

402 RI2HX=01 M

H

Al

104,050

31,220
72,830

40,

000

64,050

01 et HEAMHEE
&

AE &

IR K&
104,050,000& = 14

= M

104,050

104,050

31,220
72,830

40,

000

64,050

207 Ol= A

Jl

H

Al

21,446
10,723
2,145
8,578

446

402 QI2tXt=01 &

y

H

Al

21,446
10,723
2,145
8,578

21

,446

21,446,000& * 14
Jl

= M

21,446
21,446

10,723
2,145
8,578

446

=42 HACCP 21 & E

PR

= MW

5,600
3,200

720
1,680

,800

A 11,200

307 21201 A

Z MW

5,600
3,200

720
1,680

,800

A 11,200

8,000,000& = 1JHz * 70%

= Hn

5,600

5,600
3,200

720
1,680

,800

A 11,200

=4&t=JF HACCP X &

= M

48,750

19,500
29,250

,250

37,500

402 212t A= 01 &

= M

48,750

19,500
29,250

,250

37,500

11,250

,250
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A2 FREE=R SA BT
Ha: HFENAWY 23
Sl BiEIL FYOY EERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
O= = J HACCP Xl &
5,000,000 * 32 * 75% 11,250
= 4,500
Al 6,750
02 QI 2HCH & AL HI 37,500 0 37,500
O= &5 HACCP Xl &
5,000,000& * 1002 *75% 37,500
& 15,000
Al 22,500
SAEH KN 60,000 60,000 0
= 8,600
Al 51,400
307 2Iz2t0| A 60,000 60,000 0
= 8,600
Al 51,400
05 QIZtR E 2 60,000 60,000 0
OFMEH K& 14,345,000 = 200 St Al 28,690
= 8,600
Al 20,090
OZAETH K& (AHIFEI)
15,655,000 * 2JH & A 31,310
AL 2l X Ml Z=dl K& 102,600 86,400 16,200
J| 34,200
= 13,680
Al 54,720
307 212t01 & 102,600 86,400 16,200
9] 34,200
& 13,680
Al 54,720
02 AI2tAMAIE E =X 102,600 86,400 16,200
OAML el XIH =l X3
60,000 = 1,900& * 90% 102,600
J| 34,200
= 13,680
Al 54,720
ZABE ERTYUY N 12,600 0 12,600
J| 12,600
307 gizto| A 12,600 0 12,600
J| 12,600
02 Q2B AMAIE E =X 12,600 0 12,600
OsXN7H X3 12,600,000& = 14 12,600
Jl 12,600
HE A2 HEX 4,500 13,200 ~8,700
J| 4,500
402 QI2b X2 0| & 4,500 13,200 A8,700
J| 4,500
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A2 AHTER SN EST
Ha: HFENAWY 23
Sl BiEIL FYOY CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
02 BI2HCH & AFH HI 4,500 13,200 A8,700
Oz Xel s "He 4,500,000& * 14! 4,500
J| 4,500
FHE AHIFA L 33,330 20,000 13,330
< 10,000
Al 23,330
402 RIZEX201 ™ 33,330 20,000 13,330
< 10,000
Al 23,330
02 21 2HCH & A S HI 33,330 20,000 13,330
Osd=E2 AHIEX 82 16,665,0008 * 2002 33,330
S 10,000
Al 23,330
AAa0ZFE XNEAAY 24,000 0 24,000
402 RI2EXt20l ™ 24,000 0 24,000
02 BI2HCH S AL &1 HI 24,000 0 24,000
O&fAx 2332 XA 24,000,000 * 14l 24,000
st HE TMRAIE A& X3 ALY 200,000 0 200,000
402 RI2EX=20l M 200,000 0 200,000
02 BI2HCH & AF & HI 200,000 0 200,000
Ost2d YSTMRAIE MAXR
200,000,000 * 14l 200,000
Hsity FSAHEXE 14,197 0 14,197
< 4,259
Al 9,938
307 gl2tol & 14,197 0 14,197
< 4,259
Al 9,938
02 IZtE M AHE X 14,197 0 14,197
OHsaty 3getd 14,197,000& * 14 14,197
< 4,259
Al 9,938
gAargel Xl 20 X3 6,000 0 6,000
< 1,800
Al 4,200
402 RIZER20| A 6,000 0 6,000
= 1,800
Al 4,200
01 It 2 AL B X 6,000 0 6,000
OgAgelXl 2D X
1,000,000& * 120HA * 50% 6,000
< 1,800
Al 4,200
A2 E JIHEE X 40,000 60,000 A 20,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 10,000
< 6,000
Al 24,000
402 RI2EX20| A 40,000 60,000 A20,000
J| 10,000
< 6,000
Al 24,000
01 It 2 AL B X 40,000 60,000 220,000
OXAES 12 - HHl X8
100,000,000 * 1JHZA = 40% 40,000
J| 10,000
< 6,000
Al 24,000
TEF LI 24 876,320 779,320 97,000
= 21,000
J| 121,200
= 83,150
Al 650,970
RllsEE2ss 22 45,500 30,900 14,600
S 13,650
Al 31,850
201 24l 15,000 7,000 8,000
< 4,500
Al 10,500
01 At 22l 15,000 7,000 8,000
ORIISES2S4 FH %L JINK 24
15,000,000& * 14l 15,000
< 4,500
Al 10,500
206 M= Hl 15,500 8,900 6,600
< 4,650
Al 10,850
01 M= 4l 15,500 8,900 6,600
ORISELS4L 242 7
15,500,000 * 14l 15,500
< 4,650
Al 10,850
301 et d = 5,000 5,000 0
< 1,500
Al 3,500
NJEEd=s 5,000 5,000 0
SilseEs4 gy
,000,000& = 14 2,000
= 600
Al 1,400
OZ1DA0l S4E3atAe 150,000& * 205 3,000
< 900
Al 2,100

_62_




A2 HHEER SN EaD
Ha: HFENAWY 23
ool MEY HalE Iy (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
401 Al HIZ 201 Y| 10,000 10,000 0
< 3,000
Al 7,000
01 A& HI 10,000 10,000 0
RISEESAE NEES
10,000,000 * 14 10,000
< 3,000
Al 7,000
=2 X EN(SL . ) NEAY 150,000 150,000 0
402 RI2EX 20| ™ 150,000 150,000 0
01 B2t AP E X 150,000 150,000 0
O+ ZH(SY . &AH 8) 2=
150,000,000& * 14 150,000
II=MER A= 2te] 17,200 17,200 0
201 Let24d] 7,200 7,200 0
01 At 22l 7,200 7,200 0
O= X &2l &l Xt 450,000 = 163l 7,200
206 M= Hl 10,000 10,000 0
01 =4l 10,000 10,000 0
OofsXi&e M7 10,000,000& = 14l 10,000
TEFFAIE Y =8 2934| 1,920 2,000 A 80
202 044l 1,920 2,000 A 80
01 = LH o4 1l 1,920 2,000 A 80
OFEFZMIISGZL AREX0HH|
20,000& = 2H = 483 1,920
Tt SLXE ALY 20,000 20,000 0
402 BIZEXHE 0| A 20,000 20,000 0
01 It 2 AL E X 20,000 20,000 0
OUHIMEE BEZ L HRAIE 0
20,000,000 * 14 20,000
IIE25 MAAME(OHEAE) 20,000 4,220 15,780
Jl| 10,000
< 2,000
Al 8,000
402 2I2H X201 M 20,000 4,220 15,780
J| 10,000
< 2,000
Al 8,000
01 It AL E X 20,000 4,220 15,780
OJ=&=Xel JIH - ZHl XA
50,000,000& = 14! = 40% 20,000
J| 10,000
= 2,000
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A2 HHEER SN EaD
Ha: HFENAWY 23
ool MEY HalE Iy (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Al 8,000
OHY| AL H| X & 128,000 160,000 A 32,000
J| 64,000
== 12,800
Al 51,200
307 2Iz2t0| A 128,000 160,000 A 32,000
J| 64,000
= 12,800
Al 51,200
02 QIZHA AAIE E X 128,000 160,000 A 32,000
Oay|atZyl X 128,000,000& * 14l 128,000
J| 64,000
= 12,800
Al 51,200
HHHEX OlEEE8 HIAAY 18,000 4,000 14,000
& 5,400
Al 12,600
402 SI2vXHE0| & 18,000 4,000 14,000
& 5,400
Al 12,600
01 QIZEXIE2AIE 2 X 18,000 4,000 14,000
OMHI HEX Al B - FH|
4.000,000& * 9 A * 50% 18,000
& 5,400
Al 12,600
IEER 0|l224d3} 59,000 22,500 36,500
& 17,700
Al 41,300
402 SI2F 20| & 59,000 22,500 36,500
& 17,700
Al 41,300
01 QIZEXIE2AIE 2 X 59,000 22,500 36,500
OJEa2h Yy ads N
59,000,000 * 14! 59,000
= 17,700
Al 41,300
OHE X A= 22| 42,000 42,000 0
= 21,000
& 6,300
Al 14,700
201 LBt Y| 22,000 0 22,000
= 11,000
& 3,300
Al 7,700
01 AP 22| d| 22,000 0 22,000
OHE X ANESANES 22,000,000& * 14! 22,000
= 11,000
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A3 AHTE= A EUD
Ha: HFENAWY 23
SRl HEBY S0P X4 (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 3,300
Al 7,700
206 M= Hl 20,000 0 20,000
= 10,000
< 3,000
Al 7,000
01 =4l 20,000 0 20,000
OSX ANERX M+
20,000,000 * 14l 20,000
= 10,000
< 3,000
Al 7,000
qlles 25 - 22 N& 80,000 77,000 3,000
307 gl2tol & 80,000 77,000 3,000
05 RIZtRE = 80,000 77,000 3,000
ORJlese 2s2el XI& 80,000,000& * 1A 80,000
LAHSI SEMHEXA 15,000 15,000 0
< 4,500
Al 10,500
307 glz2+ol & 15,000 15,000 0
< 4,500
Al 10,500
02 IZtE M AHEE 15,000 15,000 0
OS24+2XEM(H) X
15,000,000& = 14l 15,000
< 4,500
Al 10,500
o AFHMZAE X2AY 136,000 0 136,000
402 RI2HX=20| A 136,000 0 136,000
01 It ALHEE X 136,000 0 136,000
OF4 AHHAAL X
136,000,000& * 14l 136,000
CEd s del &gl N 15,000 15,000 0
< 4,500
Al 10,500
402 2I2H X201 M 15,000 15,000 0
< 4,500
Al 10,500
01 It 2 AL E X 15,000 15,000 0
OJ}EExdMel & (AIEZH) XN
30,000,000& = 12 = 50% 15,000
< 4,500
Al 10,500
MY HEX X 11,900 59,500 AA4T7,600
J| 3,400
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A= AEAER 2A sS4
HE: HIEMFMY Y5
ool WY ZA|E XY CER-ED
oSN (BH) - NEAY - B Ol At o ﬁlgﬁ HRE2
= 1,700
Al 6,800
402 SI2F 20| & 11,900 59,500 N47,600
J| 3,400
&< 1,700
Al 6,800
01 QIZEXIE2AIE 2 X 11,900 59,500 AN47,600
OYHIH&EE K&
17,000,000& * 1JHA x 70% 11,900
J| 3,400
& 1,700
Al 6,800
HH KSHE X3 116,800 160,000 N 43,200
J| 43,800
& 14,600
Al 58,400
402 SI2F X201 & 116,800 160,000 N43,200
J| 43,800
& 14,600
Al 58,400
01 QIZEXIE2AIE 2 X 116,800 160,000 N43,200
OF=E2aHdelAldE & IHEAH
146,000,000 = 1JHZA * 80% 116,800
J| 43,800
& 14,600
Al 58,400
HES2AAH (S4H) 18,600 18,300 300
JlE&d| 18,600 18,300 300
Jl2 &4l 18,600 18,300 300
201 et d| 10,500 10,500 0
01 AP 22| H| 10,500 10,500 0
OMHHPANREEH| 150,000& * 12& 1,800
OARE S AP 250,000€¢ = 23| 500
OMBEAIRI|D| 22E 2
2,000,000 = 14! 2,000
OJIEtx=2Hl 2,700,000& = 14l 2,700
oJl2ges = AH| 3,500,000 = 14! 3,500
202 044 5,100 4,800 300
01 2L Y| 5,100 4,800 300
OoJl2ges (0N 85,000& * 10¥ * 63 5,100
203 R F & 3,000 3,000 0
04 EANSEER 3,000 3,000 0
OEN29Y 250,000& ~ 12€ 3,000
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raox nx
f0 2 Y

N = 0l & At & M A

[

= _ — RE!
SA-EH .S (3) - NEAY - BES 0l Ak o8 %Eﬁ HDS2

>
o
&

12,380,985 13,046,939 A 665,954
5,152,696

727,932
1,597,510
Al 4,902,847

M= 1

0z
a
0y
o
z
o
gl
0x
o

, 341,915 13,010,889 A 668,974
5,152,696
727,932
,597,510
,863,777

o=

Al

P
i

=
Y
FA
0x

,300,697 2,537,320 763,377
AT, 717
727,932
322,213
832,835

nx=
oW~ =

= H

FA

g 2,077,844 1,807,676 270,168
, 364,917
213,742
499,185

—

= HnH

401 AIEHIZ 2 CHYI

—

,664,939 1,440,570 224,369
1,095,457
170,842
398,640

= N W

01 A& HI 1,619,939 1,395,570 224,369
Ooxdg 1,619,939,000& * 14l ,619,939
,065,217
166,492
388,230
02 Zeldl 30,000 30,000 0
OFES= 30,000,000& = 14 30,000
21,000
2,700
6,300
220 15,000 15,000 0
ESE 15,000,000& * 14 15,000
9,240
1,650
4,110

—

= M W

= M W

03 Al

= MW

402 212t Xr=01 & 412,905 367,106 45,799
269,460
42,900
100,545

= M W
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O4tE OO A =& & 3,500,000& » 14 3,500
= 1,750
< 525
Al 1,225
02 =24l 2,416 5,000 A2,584
OLrE B0l QO A =& & 2,416,000& * 14 2,416
= 1,208
< 362
Al 846
206 M= Hl 2,000 5,046 N 3,046
= 1,000
< 300
Al 700
01 =8l 2,000 5,046 A 3,046
OLtE OO A =& & 2,000,000& = 14! 2,000
= 1,000
< 300
Al 700
301 L2 Az 2,966 6,540 A 3,574
= 2,696
< 81
Al 189
09 SAAHIE &S 2,966 6,540 A3,574
OAMHBIOI2QUf AT WR
2,426,000 = 14 2,426
= 2,426
OLE &AL W= 540,000& 14! 540
= 270
< 81
Al 189
SRg 22 79,486 63,004 16,482
101 @144 Hl 37,486 37,204 282
03 RIAHAZZ2 T2+ 20,878 0 20,878
O3%g Ze(FJANA2=21) 20,878
=JlE= 88,000& = 1% = 230 20,240
ocng Y MHEEZ 20,240,000 * 3.15% 638
04 JI12ZtHZ22 a2+ 16,608 37,204 220,596
OZ2wdg &2 16,608
cJIE2=s 70,000& = 1% = 230 16,100
ocnNE Y MHEEZ 16,100,000 * 3.15% 508
201 Let249y| 10,000 13,800 A 3,800
01 At 22l 10,000 10,200 A 200
Oget==EH| 10,000




A RN SAGEA) - HRAY - BES 0l &t o il Bl RE2
oSJ|. 28 . E=+=+2 10,000,000& » 14 10,000
206 M= Hl 2,000 2,000 0
01 MHZ 8l 2,000 2,000 0
OsSgds ot 500& * 4,0000H 2,000
401 Al IR 201 I 30,000 10,000 20,000
01 A& Bl 30,000 10,000 20,000
O38g dEAd 30,000,000& * 14 30,000
MEMEIA =20 28,512 27,812 700
= 14,256
< 4,276
Al 9,980
101 @124 Hl 27,712 27,012 700
= 13,856
< 4,156
Al 9,700
04 JI2ZHHZ2XREES 27,712 27,012 700
O&E MHIA &0l 27,712
oMZEMEHOISOHLIN 13,856,000& * 14 13,856
= 6,928
= 2,078
Al 4,850
oxZ HEXZA 13,856,000 = 14 13,856
= 6,928
< 2,078
Al 4,850
301 et a3z 800 800 0
2 400
< 120
Al 280
09 AL HIE &S 800 800 0
O& g bl A =20 800
o MEMEHOISOHLIM s 400,000& = 14 400
= 200
= 60
Al 140
c=ZMEXNTA 400,000& = 14! 400
= 200
< 60
Al 140
MEASEE 22| 3,000 2,800 200
202 O4dl 3,000 2,800 200
01 = LH 4 Hi 3,000 2,800 200
OMBIAS - 250 85 Y2XX
20,000& = 3" = 502 3,000
sStEst s 120,000 100,000 20,000
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
201 ¢er24| 20,000 0 20,000
01 At 22l 20,000 0 20,000
Oz s¢t2 XNI= M= 20,000,000 = 14l 20,000
401 A& HIZ 2018 100,000 100,000 0
01 A& HI 100,000 100,000 0
FREUE FH(ES)AY
100,000,000& * 14! 100,000
oA F &S 44,400 20,000 24,400
401 A& HIZ 201 Y] 40,000 20,000 20,000
01 A& HI 40,000 20,000 20,000
YN NHAFLHAE SN2+
40,000,000& * 14! 40,000
405 XHoHF S HI 4,400 0 4,400
01 et ESFH S 4,400 0 4,400
OSTHAXH (B )72 500,000& * 44 2,000
OFgEs(2dd) Wil 300,000& = 8H 2,400
FEYMZ=0IE2SE 658,093 38,950 619,143
= 377,209
< 84,265
Al 196,619
301 LAz 500 0 500
= 200
< 90
Al 210
09 SALAHIEA S 500 0 500
OMUAMMABHSOIYT X &
500,000& = 14! 500
= 200
< 90
Al 210
402 2I2H X201 M 657,593 38,950 618,643
= 377,009
< 84,175
Al 196,409
01 It 2 AL E X 657,593 38,950 618,643
OMUAMABHSOIYT X2
200,000& = 5A 1,000
2 400
< 180
Al 420
OUBREEL N 29,925,000 = 14 29,925
= 23,275
< 1,995
Al 4,655
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oy

738

ZHEE= A AED
EE - MHY &
BRI (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
= 7,000
< 900
Al 2,100
03 Al 2 THHI 10,000 7,000 3,000
OS2 ASXE 10,000,000& * 14 10,000
= 7,000
< 900
Al 2,100
402 RI2HXt20l ™ 190,000 143,000 47,000
= 133,000
< 17,100
Al 39,900
01 BIZEXI =2 A 2 190,000 143,000 47,000
OMEUAtAS 190,000,000 * 14 190,000
= 133,000
< 17,100
Al 39,900
MBI 29 10,200 17,500 AT7,300
201 LB-2dH| 6,900 ,900 0
01 At 2t 2l 6,900 ,900 0
OsE=2 HH 3,000,000 * 14 3,000
odgdady & 600,000& * 43 2,400
OUWSEH2E & A 500,000& 14! 500
OnNEEY M2
1,000,000& * 14 1,000
202 oddl 2,800 , 100 700
01 =UoY 2,800 , 100 700
Ongy &
20,000& = 2 = 703 2,800
301 Lt A 500 500 0
09 HALAYH 500 500 0
OWE[ 500,000& = 14 500
M RE FI 30,000 ,000 220,000
207 A O H| 30,000 ,000 220,000
01 289 30,000 ,000 A 20,000
O&X==2 EH &9 30,000,000 * 14 30,000
SO A = 1,500 ,500 0
201 £B-2%H| 1,500 ,500 0
03 A2 S HI 1,500 ,500 0
OUMSH2E A =& 1,500,000& * 14! 1,500
SMOISH0 2 AR 4,920 0 4,920
2,460




A2 FMAER SA S
M HE - ME YSHY T4
ool ARYY X CERED
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
Al 1,722
201 L4 4,920 0 4,920
= 2,460
= 738
Al 1,722
01 At 2t 2l 4,920 0 4,920
OSMHoIESEMZAIA 4,920,000& * 14! 4,920
= 2,460
< 738
Al 1,722
SMHASAL S 140,000 0 140,000
2 100,000
< 12,000
Al 28,000
402 RI2HXt20l ™ 140,000 0 140,000
2 100,000
< 12,000
Al 28,000
01 A TtE=AEEX 140,000 0 140,000
O=THAS AL S 140,000,000 * 14l 140,000
= 100,000
= 12,000
Al 28,000
HY2FZH (A D) 39,070 36,050 3,020
Jl= &l 39,070 36,050 3,020
Jl2234 39,070 36,050 3,020
201 Let24d] 24,540 22,750 1,790
01 At 2teltl 24,540 22,750 1,790
Ogt+gH| 16,980
CHIANRES ¥ 4224 SEFFYH
550,000& = 12& 6,600
oAl TAHATYH 20,0008 * 5&F x 12 1,200
o2 =&Y 2,200,000& * 43 8,800
oitg XY 3| 380,000& * 12 380
O= &l 7,560
oJlZgRs: ZAH|
7,0008 * 6H * 180¢ 7,560
202 O4dl 8,330 9,100 ATT0
01 = LH 4 Hi 8,330 9,100 ATT0
OJlege=8d ol 85,000& = 149 = 73] 8,330
203 R =&t 4,200 4,200 0
04 SA2HYL =T Y| 4,200 4,200 0
ORNEY g2z 350,0008 * 128 4,200
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A3 AHTE= SN 4D
Hu: #FSAAH (M D)
9l Il (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
405 XHA&HF S HI 2,000 0 2,000
01 AL 2 ZF S| 2,000 0 2,000
O ges 97y 250,000 = 404 1,000
O MHR 2 500,000& = 204 1,000
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N = 0l & At & M A

M ox
40 5 4

=

i
2

W

Xl
Jl

Al

, 739

35
845
180
246

,432

,819
,640
,000
,000
,691
,488

6,900,

417

Rl
i

o
02
H
=

W

Xl
Jl

Al

,840

35
845
180
246

,533

,730
,640
,000
,000
,691
,399

4,650,

991

189,739

m

>
I
@
3]
S
Jo
Of

H

X
y

Al

, 187,990

14,256
845,000
180,000
240,276

,908,458

4,035,

204

162,786

m
oo

Jl

W
0

2tel

220,000

320,

000

A100,000

206 M= Hl

20,000

20,

000

0

01 M= dl
OANAE Zel Mz ¢

20,000,000& = 14l

20,000
20,000

20,

000

0

401 AIEHIZ 2 I

200,000

300,

000

100,000

01 AI&HI
OIS NE B
03 Al& 2 i b

O8I 22 2

198,000,000& * 1Al

2,000,000& = 14

198,000
198,000
2,000
2,000

298,

000

,000

100,000

TAsX22H2SE

= N H

14,256
7,128
2,138
4,990

14,

004

252

S
e
[
==

= N H

13,756
6,878
2,063
4,815

13,

600

156

03 I AHAA22HE =+

O ATl (HIHA2 2R
13,756,000& * 18

= M W

13,756

13,756
6,878
2,063
4,815

13,756

301 et 4=

= W

500
250

75
175

404

96

09 BAMNEHIESS

500

404

96
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AR FREE=R SN =XBRAAEG
HE: ZERYCA
Sl TAI=EBY 25 CERED
- _ — d =
AR .24 B BAGEN) - NRANY - BES 0] &k o4 e HlDE2
OZANsI22Jd NS 500,000& * 1Y 500
= 250
< 75
Al 175
SANMY 243tE 8 =2+ 24 Y 2tel 479,000 1,104,600 A 625,600
201 et 1,400 1,400 0
01 At 22l 1,400 1,400 0
Od2=, =X tAMAE =<
70,000& = 102 = 23l 1,400
206 M= Hl 90,000 80,000 10,000
01 MHZ 4l 90,000 80,000 10,000
Otdlz 2¢ 10,000& * 500% 5,000
OazZg %M ¢ 5,000& * 1,000 5,000
Oz=telXi 2 10,000,000& = 14l 10,000
OFALE M2 5,000& = 10,0004 50,000
Ogstzts Il =stM 7€
200,000& » 50 10,000
O== =8 23N 7¢
10,000,000 * 14 10,000
301 et d=s 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
OJ2, =X HARYE 4
100,000& * 10¥ * 23] 2,000
305 Hal= S 5,000 5,000 0
01 Hia=s 5,000 5,000 0
OJtz2= 2l a3 5,000,000& * 14! 5,000
401 Al HIZ 201 8] 380,000 990,000 A 610,000
01 A& HI 375,000 985,000 A 610,000
02018 s HEE Chel & &l 150,000
oJt2= &H 120,000
s ZES ALY
120,000,000 * 14 120,000
oZX HUR 0lds =4
30,000,000& * 14 30,000
OJt2= Holls LA 80,000
og=®Rd dold YHAZ
40,000,000& * 1A 40,000
oSHA HHE LHAY
40,000,000& * 14! 40,000
OJz4 =8 HUI(XZF) 40,000,0008 * 14] 40,000
Oiz= B8 A 2 &l
30,000,000 * 14 30,000
OJt2= I ETAE FH(RsS, 2&8XF
2 Jdl ZF) 50,000,000 * 14 50,000
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ZHEE= M sASEAYE
ZEEUCA
SA=332 &5 CEE-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OZDA Jt2= HA 5,000,000& * 14! 5,000
OJIz2+ OM(SA NES S)
20,000,000& * 14 20,000
03 A& =2 THHI 5,000 5,000 0
Otz & HEAY 5,000,000& = 14! 5,000
405 XHobF S HI 600 1,200 A 600
01 XL 2 ZFH S| 600 1,200 A 600
OIAM= HH 85 7L 600,000& « 1CH 600
SATHY BHSE /s OISU2 S =422 1,375,396 1,380,946 A5,550
101 @124 dl 588,976 598, 866 A 9,890
04 JIZtHZ2XREE+ 588,976 598,866 A 9,890
O=sXAIE 2tcl et
80,730& = 15 = 8& » 23¢ 222,815
O=sXA&EX M= Al (I12H)
80,730& = 159 = 50 60,548
OZRE & =T MUIEX 22| 1Al
49,5003 * 4Y « 93 » 19 33,858
OBLXH % OrMs HMERY 012
49,5003 * 259 « 88 » 22¢ 217,800
Ong o MMEEZ 535,021,000 = 9.15% 48,955
OetdEHl X= 5,000,000& = 14! 5,000
201 £B-2d| 66,180 69, 180 A 3,000
01 At 22l 42,700 45,700 A 3,000
OXg HMEXE HME, 2
3,000,000 * 14l 3,000
O=XAY =20 GHE &g ===
3,000,000& * 14l 3,000
OxF= AL =2 5,000,000& * 14! 5,000
O&g Xt Xt 800,000& = 103 8,000
O=X 28 &5 ¢ 30,000& * 30 900
O2x& dItHd M 3,000,000& * 14 3,000
O=X AHXE HZ 2,000,000 * 14l 2,000
Oste 2 gtz 300,000& * 103l 3,000
OMBIZ X 22| ZHIYX=Z  500,0008 * 108 5,000
Oxgs & A F 300,000& * 69 1,800
O==2HES EAE 2 3,000,000 * 14l 3,000
O=sXzel g2 3,000,000& * 14 3,000
O=sXxzd 22l 1] =5
2,000,000 * 14 2,000
02 =224l 23,480 23,480 0
OZBZ & 327 MHEX HX =2
200,000& » 14! 200
OZBZE & SIS FITHEXN HIIZ
230,000& = 302 = 123l 8,280
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HEE= SN =XBEALE
ES52AT A
ANsst32t &5 CEE-ED
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ol At o %Eﬁ HR=2
OZIE & THHHEZ X A=H|
5,000,000& * 14 5,000
O=sX 2 iz 22l &4 =830
10,000,000& = 14! 10,000
202 o4 H| 5,040 5,000 40
01 2L I 5,040 5,000 40
OZA=322 2& d2xz
20,000& = 7Y x 363 5,040
203 R F & 1,500 1,500 0
03 AIZH =& 25 X H| 1,500 1,500 0
OsXAESL2=X 1,500,000& = 14! 1,500
206 M = dl 351,000 421,000 A 70,000
01 X2 H| 351,000 421,000 70,000
OZ2 MUY &8 2¢ 30,000,000& * 14 30,000
OZZ2 THHE &% ZE R2¢
30,000,000& * 14! 30,000
Os=: MUEX 222 HE 7
10,0008 * 500% 5,000
OO SHIHEY F2H 2 8,000& = 1,0007H 8,000
O824 BEgE 2 10,000& * 1,500% 15,000
OZMN & OtMg X 2
15,000,000 = 14! 15,000
OZ9 XHel =4 orMz ¢
40,000,000& * 14l 40,000
OZgZ2E 2¢ 80,000,000& * 14 80,000
OAIXS TER R 30,000,000& * 14! 30,000
OHAIX & g2 2 20,000,000& * 14! 20,000
ON2AB 4 22 2
20,000,000& * 14! 20,000
O=sX&el 22X 22 10,000,000& = 14! 10,000
OANstots =482 =272
10,000,000& = 14 10,000
=822 HE 2L 10,0008 * 500% 5,000
OMBHZZ Xl 22l XA =2 3,000,000& = 14 3,000
Ost=& MUEZEX 85 P2
30,000,000& * 14 30,000
301 et A= 1,000 1,000 0
09 SHAIAHI B A2 1,000 1,000 0
O=sX =& o &#A 1,000,000& * 14 1,000
401 Al HI L 2 0HHI 360,000 280,000 80,000
01 Al& H| 360,000 275,000 85,000
02018 sSH =% Yl &3 FH| 120,000
o8l (YH) =35 50,000,000& * 14! 50,000




FMEE= FNM SRS AEE
ZEEUCA
SA=332 &5 CEE-ED
- _ — d =
CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
o 28 AAMI =3t 70,000,000 = 14l 70,000
OAl3tAHel =4 25,000,000& * 14 25,000
OsX d3& sX2el 20,000,000 = 14l 20,000
O=sXH == doils 2H
20,000,000& * 14 20,000
Ost=2 (MU EX) 20,000,000& * 14 20,000
OnSAtD oleg ==0l4 20,000,000& * 1A 20,000
Og&E& 4aULRZ 2l 30,000,000& » 14 30,000
OsX2elo OHE Hols dels8dy
5,000,000& = 14! 5,000
OSH=S L3 AlTY 30,000,000& = 14 30,000
OAIJHAl stEH, 32 2t 20,000,000 * 14 20,000
OARAR K& & sy &l
30,000,000 = 14l 30,000
OZZEo+==2Z SLSZ2stE ol &3t AT
20,000,000 = 14l 20,000
405 TtakF S| 1,700 4,400 A2,700
01 AL EFH S 1,700 4,400 22,700
O=sXzel W=x=Jl ¢ 500,000& = 2CH 1,000
O==8ael d3I ¢ 700,000& = 1CH 700
OlE02 28 =4 &2 (SHS) 263,082 223,900 39,182
101 1244 dl 81,082 91,900 A 10,818
4 JIZtHZ22HEE =+ 81,082 91,900 210,818
O=MdNEs S8 32RANUFY 81,082
cJIE= 49,500 * 91 = 15¢ 67,568
oFxsad 49,500% * 91H * 3 13,514
201 et 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
Ogt=&H| 2,000
oaRY 23 F¢ 2,000,000& = 14l 2,000
206 M= Hl 60,000 60,000 0
01 MHZ 8l 60,000 60,000 0
O=sMNEs: S8s 32 |X ME +8
60,000,000& * 14 60,000
401 A& HIZ 201 8] 120,000 70,000 50,000
01 A& HI 120,000 70,000 50,000
O=sMNEs S8 32 |RA ALY
50,000,000 * 14 50,000
OAMEEH HHELR 4
70,000,000& * 14! 70,000
SANEZH(HEINZ=L) 1,200,000 200,000 1,000,000
Xl 600,000
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AHEE= 2Ad  sASEFAE
ZEFSATA
CAl=sSE2 5 (2 &HH)
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
= 180,000
Al 420,000
401 AlEHIZL £ 0HY| 1,200,000 200,000 1,000,000
Xl 600,000
&< 180,000
Al 420,000
01 Al&H| 1,192,000 195,000 997,000
O¥Elzxs2xd 1,192,000,000& = 14! 1,192,000
Xl 596,000
& 178,800
Al 417,200
03 Al 201 Y| 8,000 5,000 3,000
O"UElzsdxd 8,000,000& = {14l 8,000
Xl 4,000
& 1,200
Al 2,800
Sl J|IES 0lAZ2A 10,000 20,000 A 10,000
401 AlEHI 2L £ 0HY| 10,000 20,000 A 10,000
01 Al&H| 10,000 20,000 A 10,000
O8£x=JI&= 0la ZA 10,000,000 = 14! 10,000
st= ACIUIOIE 2Y9 16,256 18,754 A 2,498
= 7,128
&< 2,138
Al 6,990
101 21 214| 13,754 13,500 254
= 6,877
& 2,063
Al 4,814
04 JIZtHIZ22XNSES 13,754 13,500 254
Ostn=32aCl4loly 13,754,000& = 1H 13,754
= 6,877
= 2,063
Al 4,814
206 M Hl 2,000 2,500 A500
01 X Z Hl 2,000 2,500 A 500
Ostil= HE stsM2 22 (A=)
2,000,0008 = 14! 2,000
301 et A= 502 502 0]
=2 251
o 75
Al 176
09 HAIAHI EAZ 502 502 0
Ostul=32ACUIOIH = 502,000 * 1H 502
= 251
&< 75
Al 176
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AR FHEER SN =XBEALE
HE: ZERYCA
Sl TAI=EBY 25 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
L2 24 100,000 100,000 0
X 80,000
< 6,000
Al 14,000
401 Al HI R 201 I 100,000 100,000 0
Xl 80,000
< 6,000
Al 14,000
01 A& 8l 99,000 99,000 0
oussd 24 99,000,000& = 14l 99,000
Xl 79,200
< 5,940
Al 13,860
03 Al S HHI 1,000 1,000 0
oussd 29 1,000,000& = 14 1,000
X 800
< 60
Al 140
SXNANE Us=(SLSAE ZHMY) 180,000 500,000 320,000
J| 180,000
401 Al HI K 201 I 180,000 500,000 320,000
l 180,000
01 A& HI 180,000 500,000 A 320,000
E:NSAE LAY 180,000,000& * 1A 180,000
J| 180,000
SAE ZH(OIZ %) 130,000 130,000 0
Xl 65,000
< 20,000
Al 45,000
401 Al HIZ 2018 130,000 130,000 0
Xl 65,000
= 20,000
Al 45,000
01 A& HI 128,000 128,000 0
Otz =4 128,000,000& * 14 128,000
Xl 64,000
= 19,700
Al 44,300
03 Al 2 0HHI 2,000 2,000 0
Oz =4 2l 2,000,000& = 14l 2,000
Xl 1,000
< 300
Al 700
SAEZH (2 ME28E0MH) 200,000 0 200,000
Xl 100,000
< 30,000
Al 70,000

_94_




rooox >
40 o
H 4H oy
> =

B U e

00 1

o 02 qjon
N >

o

Jho

SN -ZH-SA(BA) - HRAY - B il HlnE2
401 Al& Bl & 28I 200,000 200,000
Xl 100,000
< 30,000
Al 70,000
01 A& HI 200,000 200,000
Otz 4 2o 200,000,000& * 14 200,000
Xl 100,000
= 30,000
Al 70,000
E Rt 652,740 36,953
=2 21,384
< 6,415
Al 624,941
ZESE=2F 22 609,972 49,805
101 @124 dl 160,722 N 28,627
4 JI2ZtHZ2XREES 160,722 A 28,627
Oz =X & ot oAt 31,611
cJIE= 49,500 * 2% = 230 22,770
oFxsad 49,5003 * 2% 46 4,554
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< 22,500
Al 52,500
206 M= Hl 75,000 0 75,000
< 22,500
Al 52,500
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= 22,500
Al 52,500
M2 B - RE 84 1,691,000 2,823,020 A 1,132,020
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< 269,000
Al 792,000
=AE MXIOFEAIE 1,260,000 1,648,020 A 388,020
Xl 630,000
< 189,000
Al 441,000
402 RIZFR201 A 1,260,000 1,648,020 A 388,020
Xl 630,000
< 189,000
Al 441,000
01 It =2 AL B X 1,260,000 1,648,020 388,020
Ozx=4tE &XIMSAE XA
2,100,000,000& * 60% 1,260,000
Xl 630,000
< 189,000
Al 441,000
=2 =M SF]OE N 30,000 30,000 0
< 9,000
Al 21,000
402 RIZEX20l A 30,000 30,000 0
< 9,000
Al 21,000
01 It =2 AL B X 30,000 30,000 0
Ox=2=2+28Hd SJHS XN
30,000,000 = 14l 30,000
< 9,000
Al 21,000
s AZZEH HE2E X 20,000 20,000 0
206 M= Hl 20,000 0 20,000
01 24l 20,000 0 20,000
SMSATE MEXE
20,000,000& * 14l 20,000
SdHE oH=AlE SHSAIY XI& 100,000 0 100,000
402 RI2FX=01 M 100,000 0 100,000
01 It 2 AL E X 100,000 0 100,000
OS3dZdH a=Ald SUHIMY X
100,000,000 * 14l 100,000
=S 2E N 18,000 0 18,000
307 gl2tol & 18,000 0 18,000
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AR FREE=R SN YA
Ha: yaaAW 25
Sl 442 JIZ - RS 84 CERED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
02 QI AAIE E X 18,000 0 18,000
OXgE 29 22X & 18,000,000 = 14! 18,000
SMEISTAHI NA(E2)I HE2, &X 25,000 0 25,000
401 AlEHIZL 2 0HY| 25,000 0 25,000
01 Al& H| 25,000 0 25,000
ONMHE (&)1 M2Z - &X
25,000,000 * 14! 25,000
SHHEZ2H2HEAE XS 210,000 0 210,000
& 63,000
Al 147,000
402 SI2FXHE0| & 210,000 0 210,000
o=t 63,000
Al 147,000
01 QIZEXIE2AIE 2 X 210,000 0 210,000
OFEHE2 H2MHEAIE X
300,000,000 = 70% 210,000
& 63,000
Al 147,000
2ES A0 M2HED XS 28,000 0 28,000
& 8,000
Al 20,000
402 IV X201 M 28,000 0 28,000
& 8,000
Al 20,000
01 QIZEXIE2AIE 2 X 28,000 0 28,000
OZLEE A0 M2MHELD X
40,000,000 = 70% 28,000
& 8,000
Al 20,000
AR E MG 2,309,209 3,656,290 N 1,347,081
= 164,000
&< 598, 159
Al 1,547,050
HAA MNEXNES 28,800 27,000 1,800
== 5,760
Al 23,040
201 Bt 4d9H]| 28,800 27,000 1,800
== 5,760
Al 23,040
01 AP 22| H| 28,800 27,000 1,800
OlLL=ATE2X B2 28,800,000& * 14 28,800
= 5,760
Al 23,040
HgE HAs 28X 1,115,535 1,115,535 0
= 334,661




A= AEAER 2A oA
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- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Ei HR=2
Al 780,874
402 SI2FAHE0| & 1,115,535 1,115,535 0
&< 334,661
Al 780,874
02 I 2HCH & AL HI 1,115,535 1,115,535 0
ONYBBAHR LEX
1,115,535,000& * 14! 1,115,535
& 334,661
Al 780,874
HEel A2 OIXEN 43,900 51,600 ANT7,700
& 13,170
Al 30,730
307 2Iz2to| & 43,900 51,600 NT,700
== 13,170
Al 30,730
08 OIXIE & 2 43,900 51,600 AT7,700
ool X2 Ol XA
43,900,0008 = 14l 43,900
& 13,170
Al 30,730
O Moz - 2HE X2 107,000 107,000 0
< 32,100
Al 74,900
307 2Iz2tol & 107,000 107,000 0
& 32,100
Al 74,900
02 QIZFA AAIE E X 107,000 107,000 0
OOlEE MalEaPEz e
107,000,000& = 14l 107,000
= 32,100
Al 74,900
HAE Mol - 282 K& 70,000 70,000 0
= 21,000
Al 49,000
307 2Iz2t0| & 70,000 70,000 0
< 21,000
Al 49,000
02 DI AAIE E X 70,000 70,000 0
O0ld MalEAEE2 X
70,000,000& = 14! 70,000
= 21,000
Al 49,000
AR AR SRAL SYHIX A 40,000 20,000 20,000
< 12,000
Al 28,000
307 2I2t01 & 40,000 20,000 20,000
< 12,000
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- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Al 28,000
02 QIZFA AAIE E X 40,000 20,000 20,000
OU=Z0 AR SAAE 89 X3
40,000,000& = 14l 40,000
= 12,000
Al 28,000
HEIIHAE HAIOF AHBH X 66,720 62,550 4,170
& 19,984
Al 46,736
307 2iz2to| & 66,720 62,550 4,170
& 19,984
Al 46,736
02 QIZIA AAIE E X 66,720 62,550 4,170
OMEIIHA 2AAOIHE 20HEH X
66,720,000 * 14! 66,720
& 19,984
Al 46,736
s SSFEZEH JA 108,600 120,600 A 12,000
= 54,300
& 10,860
Al 43,440
402 SI2FXHE0| & 108,600 120,600 A 12,000
= 54,300
= 10,860
Al 43,440
01 QIZEXIEAIE 2 X 108,600 120,600 A 12,000
OlNss204d RFELHH K&
181,000,000 = 60% 108,600
= 54,300
& 10,860
Al 43,440
CESEHMHAD M X 63,000 44,100 18,900
= 21,000
Al 42,000
402 BI2H X201 M 63,000 44,100 18,900
= 21,000
Al 42,000
01 QIZEXIEAIE 2 X 63,000 44,100 18,900
OLs=462D HMAH 105,000,000 = 60% 63,000
= 21,000
Al 42,000
THoH Ol & Al & X & 25,000 20,000 5,000
201 gEt24Hy| 5,000 0 5,000
01 AP 2t 2] d| 5,000 0 5,000
OSER THAHWEAIE 24 - EH|
5,000,000& = 1Al 5,000
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Dol AhE M 25t
YRR ES S (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
401 Al& Bl & 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OZEF THoHHEAIE 2=
20,000,000 * 14 20,000
SEHOHY = 12,000 12,000 0
201 Let249] 2,000 2,000 0
01 At 22/l 2,000 2,000 0
OSgHYHs HEY R 2,000,000& * 14 2,000
308 XXM SO0l A 10,000 10,000 0
10 JIEtRE S 10,000 10,000 0
ODEZ 4T oI 233
10,000,000& * 14 10,000
oA LI XA 38,500 38,500 0
S 11,000
Al 27,500
402 RI2FX=01 M 38,500 38,500 0
< 11,000
Al 27,500
01 It 2 AL E X 38,500 38,500 0
OsgaaadIl AlZ XI&  55,000,000& * 70% 38,500
= 11,000
Al 27,500
2HEsE =5 A& 65,520 62,230 3,290
< 24,570
Al 40,950
402 RIZEX20l ™ 65,520 62,230 3,290
< 24,570
Al 40,950
01 It =2 AL B X 65,520 62,230 3,290
O=z0dgs 2= N& 81,900,000& * 80% 65,520
< 24,570
Al 40,950
EHEZ2E ML MIXA 18,200 19,600 A 1,400
< 5,200
Al 13,000
402 RI2EX20| ™ 18,200 19,600 A 1,400
< 5,200
Al 13,000
01 B2t AL E X 18,200 19,600 21,400
OHOZHS MALMI| N
26,000,000& * 70% 18,200
< 5,200
Al 13,000
HENS0H T AIHAY 134,000 164,280 30,280
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 93,800
= 12,060
Al 28,140
402 RI2EX20| A 134,000 164,280 A 30,280
= 93,800
< 12,060
Al 28,140
01 It 2 AL B X 134,000 164,280 A 30,280
OMEHEAHRAH A 134,000,000& * 14l 134,000
= 93,800
< 12,060
Al 28,140
LEogel &==2X& 2,450 2,450 0
< 700
Al 1,750
402 212t X201 & 2,450 2,450 0
< 700
Al 1,750
01 A TtE=AEEX 2,450 2,450 0
ougoge === XI& 3,500,000& * 70% 2,450
< 700
Al 1,750
FEZE HgRgE £X 15,820 49,700 /33,880
< 4,520
Al 11,300
402 QI2H X201 M 15,820 49,700 /33,880
< 4,520
Al 11,300
01 B2t 2 AL E X 15,820 49,700 33,880
ORFEZE ou=dE &1
22,600,000& * 70% 15,820
< 4,520
Al 11,300
QENMHIIE O S WAL X 47,635 40,145 7,490
< 13,610
Al 34,025
402 RI2EXt20| ™ 47,635 40,145 7,490
< 13,610
Al 34,025
01 B2t AL E X 47,635 40,145 7,490
OLEUMHINE NS Wb X&
68,050,000& * 70% 47,635
< 13,610
Al 34,025
it el RIS XEJl= 60,000 60,000 0
308 MtXIEHSOIH 60,000 60,000 0
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
07 IXNHMAR S = 60,000 60,000 0
Oosfitoigel |It=E XIS
60,000,000 * 14l 60,000
At R(LLEREH)ESXE 6,000 12,000 A 6,000
= 3,000
< 900
Al 2,100
402 2I2H X201 M 6,000 12,000 A 6,000
= 3,000
< 900
Al 2,100
01 It 2 AL E X 6,000 12,000 26,000
OXSHOP(DLUCRE) 22X
15,000,000& * 40% 6,000
= 3,000
< 900
Al 2,100
HSASE SEUAE X& 7,000 7,000 0
< 2,000
Al 5,000
402 2I2H X201 M 7,000 7,000 0
< 2,000
Al 5,000
01 It 2 AL E X 7,000 7,000 0
OSAOE BUSAIE K&
10,000,000& * 70% 7,000
< 2,000
Al 5,000
=AAFHO HMEU2 A XS 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
O==4&tFHel MIAUS A X
10,000,000& * 14 10,000
HSSHIDIEAIE T 2 B 50,000 0 50,000
401 AIEHI L 2 CHEI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O IS EHINSAE =M & 2K
50,000,000& = 14l 50,000
AAIOF 20 DI HEED AALEH X 69,489 0 69,489
< 19,854
Al 49,635
402 212t X201 & 69,489 0 69,489
< 19,854
Al 49,635
01 HATtEAEEX 69,489 0 69,489
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04 JIZHHZ2XREES 77,220 77,112 108
Ogxs tMz2e SHME
49,5003 = 1.5 » 8% = 1302 77,220
201 ¢er24l 1,000 1,000 0
01 At 2t 2l 1,000 1,000 0
Octdzte SHHE A2F 7
1,000,000& * 14! 1,000
SEFAE R 22 20,000 20,000 0
201 Let24d] 5,000 5,000 0
01 At 22/l 5,000 5,000 0
OYZFALRA ZHIEX 5,000,0008 * 14 5,000
401 A& HIZ 201 Y] 15,000 15,000 0
01 A& HI 15,000 15,000 0
O EZFANERA 15,000,000 = 14 15,000
F248g grgrzte] el x 50,000 50,000 0
307 21201 A 50,000 50,000 0
05 QIRtRIE = 50,000 50,000 0
Ox=2ng ozl L o
50,000,000 = 14l 50,000
dSE Aldae 6,000 6,000 0
201 et 6,000 6,000 0
02 2324l 6,000 6,000 0
OZEE Xt AI|AIAE(600kw)HE 22l H
6,000,000& * 14! 6,000
HENE =8 FHHl 100,000 100,000 0
401 A& HIZ 201 I 100,000 100,000 0
01 A& HI 99,000 99,000 0
O0g HAALE E= 99,000,000& * 14 99,000
03 Al S THHI 1,000 1,000 0
Og HAAL 2= 1,000,000 = 14 1,000
HEEFNHE HEAEY 150,000 150,000 0
401 Al HI K 2018 150,000 150,000 0
01 A& HI 149,000 149,000 0
OFsze &M 22 149,000,000& * 14! 149,000
03 A& =2 THHI 1,000 1,000 0
O&dsdg YoM 2 1,000,000 = 14 1,000
HEMEOISE MRE HEXH 14,400 14,400 0
= 7,200
Al 7,200
307 21201 A 14,400 14,400 0
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= 7,200
Al 7,200
02 IZtE M AHEE 14,400 14,400 0
OWHENEOISARE HEXH
14,400,000& = 14l 14,400
= 7,200
Al 7,200
g2 AlIEE 29 23,720 23,720 0
201 Zet24E] 23,720 23,720 0
02 =224l 23,720 23,720 0
O==2dg sEx8E Mg
60,000& * 1HA * 128 720
OF2ME 340 +523
25,000 * 400 + 128 1,200
OZEE B3NS dllzg
1,000,000& * 12& 12,000
OLES SSEY o=
400,000& * 1HA + 128 4,800
OZEE QB S22l
5,000,000& = 14! 5,000
of 2 JIEtxs 2 Y| 6,000 7,000 A 1,000
202 Odl 6,000 7,000 A 1,000
01 = LH 4 Hi 6,000 7,000 A 1,000
OsgzzIIgE =2
20,000& = 2 * 1502/ 6,000
o= oot S22 ZLAY 2,300,000 3,400,000 A 1,100,000
Xl 1,700,000
= 510,000
Al 90,000
401 AIEBI L 20HEI 2,300,000 3,400,000 A 1,100,000
Xl 1,700,000
< 510,000
Al 90,000
01 A& tl 2,300,000 3,390,820 A 1,090,820
OMZ oD Bz =4
2,300,000,000& * 14 2,300,000
X 1,700,000
< 510,000
Al 90,000
H=S3R A MESZONE =4 1,000,000 1,000,000 0
Xl 500,000
< 150,000
Al 350,000
401 AIEHI L 2] 1,000,000 1,000,000 0
Xl 500,000
< 150,000




AHE= SA s
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W BEIIHRE

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
Al 350,000
01 A& HI 981,000 988,000 AT,000
OlEsEd dIMEE Z0NE =4
981,000,000 * 14 981,000
Xl 490,500
< 147,150
Al 343,350
02 Zeltl 19,000 0 19,000
OlEsEsd dIMEE Z0NE =4
19,000,000& * 14l 19,000
Xl 9,500
< 2,850
Al 6,650
g Ar=2el 2sat 64,000 14,000 50,000
< 19,000
Al 45,000
401 Al B2 28I 64,000 14,000 50,000
< 19,000
Al 45,000
01 A& HI 64,000 14,000 50,000
OXgog Ar=2tel 23 64,000,0008 1A 64,000
< 19,000
Al 45,000
HE&OL S&2telth 8,000 10,000 A 2,000
< 4,000
Al 4,000
401 AIEHI L 2 CHYI 8,000 10,000 A 2,000
< 4,000
Al 4,000
01 A& HI 8,000 10,000 A 2,000
OHt& L S&2el 8,000,000& * 14! 8,000
< 4,000
Al 4,000
MNESZHEI 22284 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
05 RIZHRIE 3 10,000 0 10,000
Oogz ZEXl2e| 10,000,000& * 14l 10,000
SOFAIE JHEEH EY 38,000 0 38,000
207 A RO 2| 38,000 0 38,000
01 289 38,000 0 38,000
OF2dE JI2AE &5 & FH 2ESEY
19,000,000& * 14l 19,000
OSAHE gol=He HELe 89
19,000,000& * 14l 19,000
LI EE 1,877,939 2,982,640 A 1,104,701
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Al 832,000
< 60,000
Al 985,939
of et 2t 1,877,939 2,982,640 A 1,104,701
X 832,000
< 60,000
Al 985,939
HOFEHIALY 1,143,000 1,858,000 A715,000
X 800,000
Al 343,000
401 Al HI K 201 I 1,143,000 1,858,000 A715,000
Xl 800,000
Al 343,000
01 A& HI 1,143,000 1,851,311 AT708,311
ASXT HOEA YAIL
1,143,000,000& * 14 1,143,000
X 800,000
Al 343,000
OfotE Al DUIHE (L XA 150,000 150,000 0
207 & 100 &l 150,000 150,000 0
01 2284 150,000 150,000 0
OZEoHE oigtEa 2UHE
150,000,000 * 14 150,000
SHetaal 222+ 50,000 90,000 A 40,000
401 AIEHI L 2] 50,000 90,000 A 40,000
01 A& tl 50,000 90,000 A 40,000
Ocdfetaal 25272 50,000,000& = 14l 50,000
EMMESUHEY =& 200,000 200,000 0
< 60,000
Al 140,000
201 ¢er24| 30,000 30,000 0
< 9,000
Al 21,000
01 At 22l 30,000 30,000 0
OF4 ZH Xt 30,000,000& = 14l 30,000
< 9,000
Al 21,000
401 AIEHI L 2 CHYI 170,000 170,000 0
< 51,000
Al 119,000
01 A& HI 170,000 170,000 0
OEAHESHEE =L 170,000,000& = 14! 170,000
= 51,000
Al 119,000
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A2 X E4 & APAY 30,000 30,000 0
201 £B-2d| 10,000 10,000 0
01 At 22l 10,000 10,000 0
OgxZEd ¢ el FHIYX
500,000& = 2CH = 10 10,000
401 AIEHIZL 2 0] 20,000 20,000 0
01 A& Hl 20,000 20,000 0
OogzZzEL & ¢l 20,000,000& = 14 20,000
SHr=H22 26,500 26,500 0
201 ¢4l 2,500 2,500 0
01 At 2t 2l 2,500 2,500 0
O3gsdae S22 500,000& * 23] 1,000
OZ2xs=Hze ZH St 500,000& =* 33 1,500
307 gl2tol & 20,000 20,000 0
05 RIZtRE = 20,000 20,000 0
O38=+=H SHAIE &= 20,000,000& * 1A 20,000
401 Al HIZ 2018 4,000 4,000 0
01 A& HI 4,000 4,000 0
OZ2xr=H SHAIE=S Xl
4,000,000& * 14! 4,000
HYHII= H3t 64,000 64,000 0
Xl 32,000
Al 32,000
307 glz2tol & 64,000 64,000 0
X 32,000
Al 32,000
05 RIZtE = 64,000 64,000 0
O HIISE st 64,000,000& * 14 64,000
Xl 32,000
Al 32,000
of oot & xR Ha 174,439 206, 140 A 31,701
101 1Al 117,839 120,000 22,161
04 JI12ZtHZ22HEE = 117,839 120,000 22,161
Ooletdr Mg Il & s elAd] 117,839
cJIE2=s 47,6003 = 20 = 10 = 12& 114,240
cNEMHEE RES
114,240,0002 * 3.15% 3,599
201 Let24E] 11,600 11,140 460
01 At 22l 11,600 11,140 460
OMdIII=AXMel FHl&X  500,000& * 125 6,000
OMgJl=1 Ot & #&  400& * 14,0000H 5,600
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SN EAGA) - HRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 45,000 75,000 A 30,000
02 BI2HCH &AM HI 45,000 45,000 0
OgmZ M IIMel(=8) 45,000,0008 » 14l 45,000
o1otEhd HStALY 40,000 40,000 0
402 RI2EX20| A 40,000 40,000 0
02 RI2HCH & AF S HI 40,000 40,000 0
Oglor MefdlMel(=&) 40,000,000& = 14 40,000
HAE2HZH| (o =40 25,375 25,700 A 325
24l 25,375 25,700 A 325
=224l 25,375 25,700 A 325
201 L2l 14,800 14,800 0
01 At 22l 14,800 14,800 0
oJlEYess FAly
7,000& * 78 » 102 » 123 5,880
O A7 2,000,000& = 14! 2,000
OMBIIDl 228 FY 6,920,000& * 14! 6,920
202 o4dl 6,375 6,700 A 325
01 = LH 4 1l 6,375 6,700 A 325
OJlz2ge=3 0t 85,000& * 159 « 53] 6,375
203 YR =2t 4,200 4,200 0
04 EAS2IYRFLH| 4,200 4,200 0
ORNZ2EYRFA 350,000& = 123 4,200
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